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1. <hoNf6LU3hL Yurusr

1.1. «URGU3hL <hPNFELU3PL LLUGMNRE3NRL» Y4y PPL-h
dhuuLvudnruuvue <henfe6LU3hL Yurusrh SFULUULHUUL

MUSUULLEP (NMC)
(Ch®NERELUSPL YUrY LA SNRL)'

Tnypubkp

Muydwuubp

Jwplwnniubip

£< pwnwpuwgh b << nighnbuwn $hghlwlwl wushp

Jwnpyh bywwnwy

Puwybh wlownpd gnyph | Puwybtifh  wupwpd  gnyph  (gnnentu
ytipwunpngnud, pwpbjwynid niutignn  Ywd Ywnnigynn) abnpptipnud,
Ywnnigwwwwnnid

Ywnyh dwpdwu dwdybwn | 60 - 180 wdhu 120 - 240 wdhu
Ywpybiph wpdnyp << npwd
Swpbywu wninynuwnpnyp | 11.5% 10.5%

Jdwpyh gndwp

Uhusl 35'000'000 << npwd

Uwpdwu nwuwy

1. Uunthnbun (wduwlwu hwjwuwpwswih yéwpubn)
2. dwpyp gnudwph wduwlwu hwjwuwpwswih ydwpubp

Spwdwnpdwu Yéwp

Uhwudwg' Jwpyh gnwwpp 0.8 %-h swihny (uwqugnyup' 30'000 << npwd)

“thdntd hwjuinph | 5’000 << npwd

nunwuwuhpnijwu Yybwn

Ywutuwdbwph swth Abinppbipynn wupwnd gnyph gpwywnpdwu nbwpnid’ ujwqugnyup wuswpd gnyph
atinpptipdwu wpdtiph 30%-h swihny
dtinpptingnn L |pwgnighs wupwnd gnyph gpuywnpdwt (Ywd  hhthnptipwjhu
wwpuwynpnigjwu wwwhnjwgpnigjwi) nbwpnud® ujwqugnyup wupwnd gnyph
Gtinpptpdwu wndtph 10%-h (Jpusk 30 wmwpbywu swinwtwgwd pwhwnniubph
hwdwnp 7.5%, tpb puwlwpwup dtnp E ptipdnid junnigwwwwnnnhg) swihny:

Unwybjwagnyu v wupwnd gnyp(tip)h guwhwwnywd ontlwjwlywu wnpdtph 70%-p

Hwpl/gpuy v abnpptipdnn L jpwgnighy  wupwpd  gnypbiph  (Yud - hhthnpbipwjhu

hwpwpbpwlgnipntu wwnpuwynpnipjwu wwwhnjwgpnipjw) gpuwdwnpdwu nbwypnd' dknppbipdnn

" Quwudniubip' 0033, 0035, 0053 U 0054




wlownd gnyph quwhwuinywsd ontjwjwlywu/dEnpptpdwu wpdtiph 90% (dhusl 30
nwpbywtu swdnwuwgwd owhwnniutph hwdwp 92.5%, Ll puwlwpwup dbnp &
ptipynud Junnigwwwinnnhg)

v &binpptipdwtu Jwpybph nbwpnd quwhwunydwsd oniujulwu b &tinppbpdwu
wndbtipubiph vwppbpniejwu nGwpnd yuwpl/gpwy hwpwpbpwygniejwu hwdwn
hhdp k£ ytipgynwd ujwqugniun:

Uwwhnydwu dhong

Jdbpwunpngynn, pwpbjwyynn, dbnpptipynn (gnjnyentt nitubignn Ywd Ywnnigynn),
Ywnnigwwwwnynn, wuhpwdbtipnniejwu nbiwypnud twl |pwgnighs puwybh wupwnd
qnyph gpwy:

Ywnnigwwwwndwu wnpytiph nbwpnud npwtiu [pugnighs wwwhnydwu dhong &
Ywpnn £ hwunhuwtw] w) 2wpdwlwi/wupwnd gnyp: Swulwgwsd nbiwpnid
(Inwgnighs gnyph gpwywnpdwdp Ywd wnwug npw) Juplp yepwdhtwtuwynpdwl
ubpyuwjwgubhu yupy/gpwy hwpwptpwygnieniup wtiwp £ jugqih wnwybjwgnyup
70% L Ywnnigynn gnyph hwunbw ujwquagnyt wwhwugubip Gu dnwnph nnw,
wmwupph U ywuinnthwuubph wnwnieyniup (nbnwnpywd yhbdwynid):

bwnnigynn puwybih wupwpd gnyph (Ywnnigynn pwquiwplwywpwu otupnid
puwlwpwup) &binp pbtpdwu nbwpnd Jupyh wwwhnynipjwu dhong Ywpnn &
hwunhuwuw| wj puwybh wupwpd gnyp UW/Hwd Ywnngynn puwlybh wurwpd
gnyph (Yunnigynn pwqlwptwywpwu otupnid puwywpwuhp) qudwu hpwyniupp'
wwjdwuny, np a&bnp pbpynn  wlowpd  gnypp gpwywnpybint £ 100%
wywpunywdnigjwl wunhbwu unwuwinig hbwnn:

<hduwlywu wwwhndwtu dhongp wbwp £ nwbuw 100% wywpundwdniejwu
wunhbwu (pwgwnnipjwdp junnguwwwndwu U Ywnnigynn puwlybih wupwnd
gnyph (Ywnnigynn pwqiwptwlwpwu otupnd puwlwpwup) 6bnp pbpdwu
Uwwunwyny npwdwnnpynn yuwpytiph, huswybiv twl junniguwwwndwu Jupytnh):

Muwpunwnhp gpuywnpdwu Gupwlw |pwgnighs wuownd gnypp bu wtwp £ niubuw
100% wywpunywdnipjwl wunhbwu:

Uwwhnjwagpniejniu

w) wupwpd gnyph wwywhnjwgpnyenit’ quipyh gndwph duwgnpnh uuwndwdp’
hwdwdwju Cuybpnigjwu htinn hwdwagnpdwygnn Yuqdwybpwnieniuutiph Ynndhg
uwhdwujwé uwlwgutiph bW O4dDY wwhwugubiph:

p) ndpwfuwn wwwnwhwnpubiphg Jupwlwnnih/hwdwydwpywnniubipp
wwwhndwgpngniu’  Jupyph  gndwph  duwgnpnh  ujundwdp'  hwdwdwu
Cuybipniejwu htin hwdwagnpdwygnn Yugdwybpwnigyniuutinh Ynndhg uwhdwuywd
uwlwaqubiph b O4dHY wwhwugubiph:

a) hhthnptipwht  wwpnwdnpnipjwt  (Yuufuwddwph - dh dwup o swthnd)
wwwhnjwagpniginit (wnyuwynyejwu nbwpnd)' wwlwu Yéwpjwd Yuwufuwybwnh
gnwph  swipnd  hwdwdwiu  Culbpnipgwu hbn  hwdwgnpdwygnn
Ywqdwybpwnipniuubph Ynndhg  uwhdwudwé  uvwlwqubph L TUDY
wwhwueubiph: <hthnpbpwiht ywpuwynpnypjwt wwwhnjwagpniyenitup wbwnp k
gnpdh wnujwqu dhush wju wwhp, Gpp Jwpwnnws Juwpyh gnwdwphg Yywwnwnpp
4/S gnpdwlgh 70%-p gipwquugnn gnwdwph swihny ybwpnid:

W ywydwuubp

v Ywnnigwwwwndwu Jwpybipp wpwdwnpynw Gu thnywihu nwuwyny, pun
npnwd Ytinght thnyp winp £ ihuh ywpyh gnudwph 20%-hg ng wyt)

v Ywnnigwwwwndwu qupybph nbiwpnd yupyh gndwnp sh Ywpnn gbipuwquiugt
Ywnnigwwwwndwt woluwnwupubph Yuwnwpdwu twfuwhwyh gnidwnph 80%-
n

v' Ywnnigynn ptwybih wupwpd gnyph (Yunnigynn pwgiwptwwpwu sGupnid
puwywpwup) &bnp  pbpdwu  twywwwyny  wpwdwnpdnn  Jwpybpp
wpwdwnpynud GU thnywihtu inwuwyny




v' Ywnnigynn ptwybih wupwpd gnyph (Yunnigynn pwgqiwplwwpwu sGupnid
puwlwpwup) 6bnp pbpdwu nbwpnd Jwpyh gnudwpp  hnfuwugynd |
Ywnnigwwwuwnnh hwwny hwogphu b wdpnnontgjudp uwnbtigynd k, Gt w)|
pwu uwhdwudws sk Y44 npnpdwdp

v Unyu dpwaph 2powtwlyubipnid Cwdwywplwnnt (W/Ywd ubithwlwuwnbip) Yupnn
tu hwunhuwu] Jhwjiu punwuhph wunwdubpp' hwjpp, dwypp, wdnwpup,
wdnwiunt dunnubipp, wwuwp, wwuwp, pnypp, tnpwjpp, tpbluwubpp, ppny,
Gnpnp wdnwhutu n GpGluwutpn:

v Qtinpptipdwu Jupytiph nbwpnwd wupwnd gnyph dbnpptipdwu U quwhwunywsd
onlyujwywu wpdbiph wnwybjwgnyu swihp Yuqdnid £ 55 dju << npwd:




1.2. «URGU3hL <h2NELU3PL LLUG rNRE3NRLY U4y PPL-h
dhuuvvudnruuvue <henfe6LU3hL Yurusrh SrULUULHUUL

MU3UULLEN (NMC Ul Ony)?

Tnypubtp

Muydwuubp

Jwplwnniubp

£< pwnwpuwgh b ££ nighnbuwn $hghlwlwl wushp

Jdwpyh tywwnwy

Fuwybh wlpwnd gnyph | Puwybih  wupwpd gnyph (gnnyentu
tpwunpngnud, pwpbjwyntd niutignn  Ywd Ywnnigynn) abnpptipnud,
Jwnniguwwwuwnnwd

Jdwpyph dwpdwu dwdybin

60 - 180 wdhu 120 - 240 wdhu

Hwplbiph wndnye

L npwd

Swpblwu wninynuwnpnyp

13% 12%

Jdwpyh gndwp

35000001 << npwdhg dpusl 60'000'000 << npwd

Uwpdwu nwuwy

1. Uunthnbun (wduwlwu hwywuwpwswih yéwpubn)
2. dwpyp gnudwph wduwlwu hwjwuwpwswih ydwpubp

Spwdwnpdwu Yéwp

Uhwudwg' Jwpyh gnwwpp 0.8 %-h swihny (uwqugnyup' 280'000 << npwd)

“thdnud hwjwnp
nwnduwuhpnyjwt Jéwn

5’000 << npwd

Ywutuwybwph swth

Atinppbipynn wuswnpd gnyph gpwdwnpdwu nbwpnid' uuquignyup wupwnd gnyph
atinpptipdwu wpdtiph 30%-h swthny
dtinppbipynn L |pwgnighy wpwnd gnyph gpuywnpdwu (Ywd  hpthnetipwht
wwpunwynpnigjwi wwywhnjwgpnipjwi) nbwpnd' ujwqugnyup wupwpd gnyph
atinpptipdwu wpdtiph 10%-h swihny:

Unwybjwagnyu

Ywnl/gpuy
hwpwpbpwygnipentu

v wupwnd gnyp(tip)h guwhwwnygwsd ontluwywywu wndtiph 70%-p

v atinpptipynn U |pugmighy  wupwnd  gnypbiph - (Yud  hhthnpbipwhu
wwpuwynpnipjuu wwwhnwgpnipjwi) gpuwdwnpdwu nbwpnd' dknppbpynn
wlownd gnyph quwhwwnywsd ontyuwjwlw/dtinpptindwu wndtph 90%

v &binpptipdwu Jwpybph nbwpnd quwhwundwsd oniujulwu b dtinppbpdwu
wndtiputiph wwppbpniejwu nbwpnd yupy/gpwy hwpwpbpwygniejwu hwdwn
hhdp k ytipgynwd ujwqugniyun:

Uwwhnydwu dhong

Jdbpwunpngynn, pwpbjwyynn, dbnpptipynn (gnjnieyntt niutkignn Ywd Ywnnigynn),
Ywnnigwwwwnynn, wuhpwdbtipnniejwu nbiwpnud twl |pwgnighs puwybh wupwnd
qnyph gpwy:

Ywnnigwwwwndwu unpytiph nbwpnud npwtiu [pugnighs wwwhnydwu dhong &
Ywpnn £ hwiunhuwtw| w) 2wpdwlwt/wuownd gnyp: Swulwgwsé nbwpnid
(Inwgnighs gnyph gpwywnpdwdp Ywd wnwtg npw) Jupyp yipwdhtwtuwdnpdwt
ubpywjwgubhu wny/gpwy hwpwpbpwygnieniup wbwnp £ Yuwgqdh wnwybjugnyup
70% W Ywnnigynn gnyph hwunbiwy ujwquanyu wwhwueubip Gu dnwnph nnw,
wmwuhph b ywwnnthwuubph wnlwjnieiniup (nbnwnpqwsé yhdwyned):

bwnnigynn puwybh wupwnd gnyph (Yunnigynn pwqdwptwlwpwu sGupnid
puwywpwup) dbnp pbpdwu nbiwpnd Juwpyh wwwhndnyejwu dhong Ywpnn k
hwunhuwtw| wy puwybh wupwpd gnyp WYHwd Ywnnigynn puwlybih wupwnd
gnyph (Yunnigynn pwqiwptwlwpwu obupnid puwlwpwuh) qudwu hpwyniupp'

2 Quwudnipubin' 0033, 0035, 0053, 0054, 0083, 0084, 0085 L 0086




wwjdwuny, np a&bnp pbpynn  wlowpd gnypp gpwywnpybint £ 100%
wywpunywdnigjwl wunhbwu unwuwinig hbwnn:

<hduwlywu wwwhndwtu dhongp wbwp £ nwbuw 100% wywpundwdniejwu
wunhbwu (pwgwnnipjudp junniguwwwdwu U Ywnnigynn puwlybh wupwnd
gnyph (Ywnnigynn pwqiwptwlwpwu otupnd puwlwpwup) &bnp pbpdwu
Uwwunwyny npwdwnnpynn yupytiph, huswytiv twb junniguwwwndwu yupytiph):

Muwpunwnhp gpuywnpdwu Gupwlw |pwgnighs wuownd gnypp Lu wtwp £ nwwbuw
100% wywpunywdnipjwt wunhbwu:

Uwwhnjwagpniejniu

w) wupwpd gnyph wwywhnjwgpnyenit’ quipyh gnwdwph Juwgnpnh uluwndwdp’
hwdwdwju Cuybpnigjwu htinn hwdwagnpdwygnn Yuqdwybpwnientuutiph Ynndhg
uwhdwuywé uwlwgubiph bW o4dY wwhwugubiph:

p) ndpwfuwn wwwnwhwnpubphg Jupwlwnnih/hwdwydwpywnniubipp
wwwhnwgpneyni® Jupyh  gnWwpp  Jduwgnpnh - uyundwdp' hwdwdw)u
Cuybipniewu htinn hwdwagnpdwlygnn Yuwqdwybpwnipniuutiph Ynndhg uwhdwuywsé
uwywqubph b O4UdDY wwhwueubinh:

q) hhthnptipwjht  wwpwwynpnygut - (Ywufuwdéwph  dh - dwuh - swihing)
wwwhndwagpnipniu (wnyuwjnyejwu nbwpnwd)' wwlwu Jowpjwsd Ywuluwdbwnpp
gndwph  swpnd' hwdwdwiu  Culybpnygywu hbin hwdwgnpdwlygnn
Ywguwybpwnienwuubpp Ynndhg  uwhdwuwé  uwlwqubph L O4DY
wwhwueubiph: <hthnebpwiht ywpunwynpnygjwt wwywhnjwagpnyenitup wbwnp L
ghpdh wnujwqu dhusk wju wwhp, Gpp Jupwunns Jupyh gnidwphg Yywnwph
4/9 gnpdwlygh 70%-p gpwquugnn gnidwph swihny yéwpnid:

Uy wwydwuubp

v Yuwnngwwwwdwu Jwpybpp wpwdwnpynwd Gu thnywiht Gnwuwyny, pun
npnu ytinghti thnyp winp £ (htup winyih gnwdwph 20%-hg ng wy

v Yuwnniguwwwwndwu upytiph nbiwpnd yupyh gndwpp sh Yupnn gipwquiugh)
Ywnnigwwwwndwt wluwwnwuptbph Yuwnwpdwu twfuwhwyh gnidwnph 80%-
l

v' Ywnnigynn ptwybih wupwpd gnyph (Yunnigynn pwgiwptwwpwu sGupnid
puwywpwup) &bnp  pbpdwu  bwywwwyny  wpwdwnpdnn  Jwpybpp
wpwdwnpynud GU thnywihu inwuwyny

v Ywnnigynn puwybih wupwnd gnyph (Yunnigynn pwqdwptwlwpwu sGupnid
puwywpwuh) &bnp pbpdwtu nbwpnd Jupyh gndwpp  hnfuwugynd |
Ywnnigwwwwnnh hwwnnty hwayhtu b wdpnnonigjwdp uwntigynid &, Geb w)l
pwu uwhdwudwd sk Y44 npnpdwdp:

v Unyu dpwagph 2powtwyutipnud Kwdwdwnpywnnt (W/{wd ubithwlwuwnbip) Yupnn
Gu hwunhuwy] dhwju punwupph wunwdubpp' hwypp, dwypp, wdnwhpup,
wdnwiunt dunnubipp, wwwp, wwwp, pnypp, tnpwipp, tpbluwubpp, ppny,
Gnpnp wdnwhutu n GpGluwutpn:

v' 3Qbtnp pbtpynn wupwpd gnyph &bnpptpdwtu U quwhwwndwd ontyujwywu
wpdbtiph wnwybjwagnyu swip' 90 dju. £ npwid:




1.3. «URGU3hL <hPNELU3PL LLUG rNRE3NRLY» U4y PPL-h
dhlLuLvudnruuvu e Uur2u3bt ALULLUMULUBPL JULUErP SPULU U U UL

MU3UULLGEN (NMC5)
(Uur2ushtu PLUYUrULUSPL YUry)?

Tnypubtp

Muydwuubp

Jwplwnniubp

£< pwnwpuwgh b ££ nghnbuwn $hghlwlwl wushp

Jdwpyh tywwnwy

Fuwybh wlpwnd gnyph | Puwybih  wupwpd gnyph  (gnnyentu
tpwunpngnud, pwpbjwyntd niutignn  Ywd Ywnnigynn) abnpptipnud,
YJwnniguwwwuwnnwd

Jdwpyp dwpdwu dwdytin | 60 - 180 wdhu 120 - 240 wdhu
Jdwpybiph wpdnyp L npwd
Swpbtiywu ninynuwnpnyp | 10.5% 9.5%

Jdwpyh gndwp

Uhusl 35000000 << npuwd

Uwpdwu tnwuwy

1. Uunthnbun (wduwlwu hwjwuwpwswih yéwnpubn)
2. dwpyp gnidwph wduwlwu hwwuwpwswih yéwpubp

Upwnnujw
dwlwiuwywhwwnyws

Fninwununbuwlywu punyph GUwdwh wnpnp niubgnn Jupywnnwbph nbwpnud
Ywpnn t hwéwlunpnpt  npwdwnpdtp qwpyh gndwpp dwpdwt wpunnbjwg
dwidwuwlwhwwnywd dhusl 12 wdhu nbnnnijwdp (wjdwuwgph gnpdnnnigjwu
ulqph wdhuubiph hwdwn):

Utignuwiht Jéwpdwtu  dwdwuwlwgnyg Ywpnn £ uvwhdwudb  dhwju
gjninwnunbiuwlwu punyph tlwdwnp wnpnp niubgnn Jwpwnnwbph hwdwp:
Cun npnud, Jupyh gnwdwph dwpnudubiph pwuwyp sh Yupnn lmwpblwt 2 wugqwdhg
phs hub): Pninp nbiwpbipnid, ininynuubph wduwwu Jéwpnwip ywpuwnhp k:

Spwdwnpdwu Yéwp

Uhwudwg' Jwpyh gnwwpp 0.8 %-h swihny (uwqugnyup' 30'000 << npwd)

“thdnud hwjwnp | 5000 << npwd

nunduwuhpnyjwt Jbwn

zgﬁiu;g&i?:qajnm L nwpwodp, pugwnnipjwdp Gplwt pwnwph

Ywutuwdbwph swth Abinppbipynn wupwnd gnyph gpwywnpdwu nbwpnid’ ujwqugnyup wuswpd gnyph
atinpptipdwu wpdtiph 30%-h swihny
dtinpptingnn L |pwgnighs wupwnd gnyph gpuywnpdwt (Ywd  hhthnptipwjhu
wwpuwynpnigjwu wwwhnjwgpnigjwi) nbwpnud® ujwqugnyup wupwnd gnyph
Gtinpptipdwu wpdtiph 10%-h swihny

Unwybjwagnyu v wupwnd gnyp(tip)h guwhwwnygwsd ontluwywywu wndtiph 70%-p

Hwnl/gpuwy v atinpptipynn U |pugmighy  wupwnd  gnypbiph  (Yud  hhthnpbipwhu

hwpwpbpwygnipentu wwpuwynpnipjuu wwwhnwgpnipjwi) gpuwdwnpdwu nbwpnd' dknppbpynn

wlownd gnyph quwhwwnywsd ontyuwjwlw/dtinpptindwu wndtph 90%

v' &binpptipdwtu Jwpytiph nbwpnw quwhwndwsd ontlujwlwu b dbnppbpdwu
wndbtiputiph wwppbpnipjwu nbwpnid yuwpy/gpwy hwpwpbpwygnigjwu hwdwn
hhdp k£ ytipgynwd ujuqugnyun:

Uwwhnydwu dhong

Jdbpwunpngynn, pwpbjwyynn, dbnpptipynn (gnjnieynt niutignn Ywd Ywnnigynn),
Ywnnigwwwwnynn, wuhpwdbtipnniejuu nbiwypnd twl |pwgnighs puwybh wupwnd

qnyph gpwy:

3 Quwudniputip' 0083, 0084, 0085 L 0086




Ywnnigwwwwndwt Jwpytiph nbwpnd npwbu |pwgnighs wwwhnydwu dhong L
Ywpnn £ hwunhuwtw] w) 2wpdwlwi/wupwnd gnyp: Swulwgwsd nbiwpnid
(Inwgnighs gnyph gpuywnpdwdp Ywd wnwg npw) Juplp yepwdhtwtuwynpdwl
ubpyuwjwgubhu yupy/gpwy hwpwpbpwygnyeniup wtiwp £ ugqih wnwybjwgnyup
70% L Ywnnigynn gnyph hwunbw ujwqugnyt wwhwugubpu Gu dnunph nnwu,
wmwupph U ywuinnthwuubph wnbwjnigyniup (nbnwnpwd ypbwynid):

bwnnigynn puwlybih wuowpd gnyph (Ywnnigynn pwqiwplwywpwu sGupnid
puwlwpwup) &binp pbpdwu nbwpnd Juwpyh wwwhnynipjwu dhong Ywnpnn &
hwunhuwuw| wj puwybh wupwpd gnyp W/Hwd Ywnnigynn puwybh wuowpd
gnyph (Yunnigynn pwqiwptwwpwt otupnd puwywpwuh) qudwu hpwyniupp'
wwjdwuny, np a&bnp pbpynn  wbowpd gnypp gpwywnpybiint £ 100%
wywpunywdnigjwl wunhbwu unwuwinig hbwnn:

<hduwlywu wwwhndwtu dhongp wbwp £ nwbuw 100% wywpundwdniejwu
wunhbwu (pwgwnnipjudp juwnniguwwwdwu U Ywnnigynn puwlybh wupwnd
gnyph (Ywnnigynn pwqiwptwlwpwu otupnd puwlwpwup) &bnp pbpdwu
Uwwunwyny wnpwdwnnpynn yupytiph, huswybtiv twb junniguwwwdwu yupytiph):
Muwpunwnhp gpuwywnpdwu Gupwlw |pwgnighs wuownd gnypp bu wtwp £ niwbuw
100% wywpunywdnipjwt wunhbwu:

Uwwhnjwgpnip)ntu

w) wupwnd gnyph wwwhnjwgpnignia® quipyp gnwwph duwgnpnh ufundwdp’
hwdwdwju Cuybpnigjwu htin hwdwagnpdwygnn Yuqdwybpwnieniuutiph Ynndhg
uwhdwuywé uwlwgubiph bW o4dY wwhwugubiph:

p) ndpwfuwn wwwnwhwnpubphg Jupwlwnnih/hwdwywpywnniubipp
wwwhnwgpneynit® Jupyh  gnwpph Juwgnpnh  uyundwdp' hwdwdw)u
Cuybipniejwu htinn hwdwagnpdwlygnn Yuwqdwybpwnipniuutiph Ynndhg uwhdwuywsé
uwywqubph b O4UdDY wwhwueubinh:

q) hhthnptipwjht  wwpwwynpnygut - (Ywufuwdéwph  dh - dwuh - swihing)
wwwhndwgpnpniu (wnyuwjnyejwu nbwpnwd)' wwlwu Jowpjwsd Ywuluwdbwnpp
gndwph  swipnd' hwdwdwiu  Culybpnygywu hbin hwdwgnpdwlygnn
Ywguwybpwnienwuubpp Ynndhg  uwhdwuwé  uwlwqubph L O4DY
wwhwueubiph: <hthnebpwiht ywpunwynpnygjwt wwywhnjwagpnyenitup wbwnp L
gnhpdh wnujwqu dhusk wju wwhp, Gpp Jupwnns Jupyh gnidwphg Yywnwph
4/9 gnpdwlygh 70%-p gpwquugnn gnidwph swihny yéwpnid:

Uy wwydwuubp

v Yuwnngwwwwdwu Jwpybpp wpwdwnpynwd Gu thnywiht Gnwuwyny, pun
npnu ytinghti thnyp winp £ (htup winyih gnwdwph 20%-hg ng wy

v Yuwnnigwwwwndwu upytiph nbiwpnd yupyh gndwpp sh upnn gipwquugh)
Ywnnigwwwwndwt wluwwnwuptbph Yuwnwpdwu twfuwhwyh gnidwnph 80%-
l

v' Ywnnigynn ptwybih wupwpd gnyph (Yunnigynn pwgiwptwwpwu sGupnid
puwywpwup) &bnp  pbpdwtu  bwywwwyny  wpwdwnpdnn  Jwpybpp
wpwdwnpynud GU thnywihu inwuwyny

v Ywnnigynn puwybih wupwnd gnyph (Yunnigynn pwqdwptwlwpwu stupnid
puwywpwuh) &bnp pbpdwt nbwpnud Jupyh gndwpp  hnfuwugynd  §
Ywnnigwwwwnnh hwunnty hwayhtu b wdpnnonigjwdp uwntigynid &, Geb w)|
pwu uwhdwudwd sk Y44 npnadwdp

v Unyu dpwagph 2powtwyutipnud Kwdwywnpywnnt (W/{wd ubithwlwuwnbip) Yupnn
Gu hwunhuwy] dhwju punwupph wunwdubpp' hwypp, dwypp, wdnwhpup,
wdnwiunt dunnubipp, wwwp, wwwp, pnypp, tnpwipp, tpbluwubipp, ppny,
Gnpnp wdnwhutu n GpGluwubpn:







1.4. «URGU3bhL <hPN@ELU3PL LLUG rNRE3NRLY» U4y PPL-h
dhLuLvudnruuvue APLULUMULUBPL ELBMGUUMBNRLUYES YUruGrh

SPUUUMUUL MUSUULLEN (NMC5)*
(EU)°

Tnypubkp

Muydwuubp

Jwplwnniubp

<< pwnuwpuwgh b ££ nbghntuwn $hghlwlwl wudhp

Jdwpyh tywwnwy

Puwybh wlpwnd gnyph | Puwybih  wupwpd gnyph  (gnnye)ntu
ytpwunpngnud, pwpbjwyntd niutignn  Ywd Ywnnigynn) abnpptipnud,
YJwnniguwwwuwnnwd

Jdwpyp dwpdwu | 60 - 180 wdhu 120 - 240 wdhu
dwulbin

Jdwpybiph wpdnyp L npwd

Swpblwu Uwpqujhu EU' 10.0% Uwpquyhu EU' 9.0%
nnynuwnpnyp Gplwu EU" 10.5% Gplwu EU" 9.5%

Jdwpyh gndwp

Lywquanyup' 3'000'000 ££ npwd Lwquanyup' uwhdwuwhwynd wnlw sk
Unwybjwgnyup' 45'000'000 << npwd | Unwybjwgnyup' 45'000'000 << npwd

Uwpdwu tnwuwy

1. Uunthinbun (wduwlwt hwjwuwpwswih yéwnubin)
2. dwpyh gndwph wduwlwu hwwuwpwswih ydwpubp

Uwpquypt EU Juplybph dwpdwt wnwudbwhwinyniginiatibpp uipyuywgdwds Gu Uwnquypt ptwluwpwbaught
Yunltph ppwdwnpdwl wuydwatbpnud:

Spwdwnpdwu Yéwp

Uhwudwg' Jwpyh gnwwph 0.8 %-h swihny, uwqugnyup' 30'000 ££ npwd

“thdntd hwjuinh
nunwibwuhpniRjwu
Jowp

5'000 << npwd

Ywutuwybwph swth

Atinppbipynn wupwnd gnyph gpwywnpdwu nbwypnd' ujwquignyup wupwnd gnyph
&tinppbpdwu wpdtiph 30%-h swihny
dtinppbinynn L |pwgnighs  wupwnd  gnyph  gpwyjwnpdwt (Yud  hhihinptipwht
wwpunwynpnigjwu wwywhnjwgpnipjwt) nbwypnud' ujuqugnyup wupwpd gnyph
&tinpptipdwu wndtiph 10%-h swihny

Unwybjwagnyu

Hwnl/gpwy
hwpwpbpwygnie)niu

v wupwnd gnyp(tip)h guwhwwnywd ontljwjwlywu wpdbph 70%-p

v abnpptipdnn - U pwgmighs  wlpwnpd  gnyptiph (Ywd  hpthnpbipwhu
wwpuwynpnigjwt wwwhnjwagpnipjwt) gpwdwnpdwu nbwpnd®  dknppbipynn
wuownd gnyph quwhwwnywsd ontjuwjwlwu/dbnpptipdwu wpdtiph 90%

v abnpptipdwt Jwpytph nbwpnd quwhwunydwd ontluwjwlywu b &bnpptpdwu
wpdbiputiph wwppbipnyejwu nbwpnud Jwpl/gpuy hwpwpbpwygnigjwu hwdwp
hhdp t dtipgynid ujwqugnyup:

Uwwhnydwu dhong

dbpwunpngynn, pwpbjwyynn, dtinpptipnynn (gnnyentt niubignn Ywd Ywnnigynn),
Ywnnigwwwwynn, wuhpwdbonnigjwu nbwpnd twl |pwgnighs puwlybh wupwpd
qnyph gpwy:

Ywnnigwwwwdwu Junpybph nbwpnd npwbu pwgnighs wwwhnydwu dhong &
Ywpnn £ hwunhuwtw] wj 2wpdwwi/wupwpd gnyp: Swulwgwd nbuwpnud

4 Quwudnipubp' 0075, 0076, 0081 L 0082
5 Uwipqbipnud pnpwdwnpynn Juplph wnwbdtwhwiplynipgniiibpp baphuywgduwés bt Uwpquyht ptwlpwpwbwgptl Juipugpbuwlp

wuydwbbbpnid:




(Inwgnighs gnyph gpuywnpdwdp ud wnwtg npw) Juplp Yepwdhtwtuwdnpdw
ubpyuwjwgubhu Jupy/gpwy hwpwpbpwygnyeniup wtwp £ jugqdh wnwybjwagnyup
70% L Ywnnigynn gnyph hwuntwy ujwqugnyu wwhwuoubip tu dnunph nnwd,
nwupph b ywwunnthwuubph wnywjniginiup (ntnwnpywsd yhbwynid):

bwnnigynn puwlbih wupwpd gnyph (Ywnnigynn pwqdwptwlwpwu tupnid
puwlwpwup) &tinp pbpdwu nbwpnud Jupyph wwwhnynipjwu dhong Ywpnn L
hwunhuwtw| wy| puwytih wupwnd gnyp W/Ywd Yuwnnigynn puwybiih wupwpd gnyph
(uwnnigynn  pwqlwplwywpwu  oGupnd  puwlwpwup)  qudwu  ppwyniupp’
wwjdwuny, np &bnp pbpgnn  wlpwpd  gnypp ghwywnpybiint £ 100%
wywpuywdnipjwt wunhbwu unwuwinig htiwnn:

{pduwywu  wwywhndwtu dhongp wbiwp £ niubuw 100%  wjwpunywdniypjwu
wuinhbwl (pwgwnnipjudp Junniguwwwwdwu b Jwnnigynn puwlybih wupwpd
ghyph (Ywnnigynn pwqiwptwlwpwu oGupnid puwlwpwuh) &bnp pbpdwu
uywwnwyny wmpwdwnpynn qupytiph, huswytiv twb unniguwwwndwu qupytiph):
Mwpunwnhp gpuyunpdwu Gupwlw [pwgnighs wuownd gnypp bu wbwp £ niubuw
100% wywpunywdnipjwu wunhbwu:

Uwwhnjwgpnip)ntu

w) wuownpd gnyph wwwhnjwgpnieiniu’ quipyph gnwwph duwgnpnh ufundwdp’
hwdwdwju Culbpnigywu htwn hwdwgnpdwlgnn Yuwqdwybpwniegyniuubiph Ynndhg
uwhdwuywd uwlwgubph bW o4dDY wwhwugubiph:

p) ndpwfuwn wwwnwhwnpubphg Jupwlwnnih/hwdwywpywnnwubipp
wwwhndwgpnyenit®  Jwpyh  gnwWwph  duwgnpnh Wwndwdp' hwdwdw)u
Cuytpniejwu htn hwdwgnpdwygnn Yuwqdwybpwnipniuubiph Ynndhg uwhdwuywd
uwlwqubph b O4UdDY wwhwugubiph:

q) hpthnptipwiht wwpwwynpngyw  (Ywutuwydwph  dh dwuh - swihing)
wwwhnjwagpnipniu (wnwjnypjwu nbwpnd) wwlwu Jdwpdwsd Ywuluwdbwnp
gnwdwph swihny' hwdwdwu Cuytpniejwu htiwn hwdwgnpdwlgnn
Ywqgdwybpwnigyniuutiph Ynndhg uwhdwuyws uwlwgutiph b O4dDY wwhwueubiph:
<hthnebipwiht ywpunwynpnigjwt wwwhnywgnpnieiniup wbwp £ gnpdh wnujwqu
dhusl wju ywhp, Gpp Jwpwnnis yupyh gnidwphg Yywnwnph 4/ gnpdwygh 70%-
p gbipwquwugnn gnwdwph swithny Jéwpnid:

Uy wwydwuubp

v Yunniguwwwwndwu qupytipp nnpwdwnpynid Gu thnywihtu nwuwyny, pun npnwd
Ytinghts thnyp whiwp £ (hup Juplh gnidwiph 20%-hg ng wyt

v Yunniguwwwwndwu Jupytiph nbiwpnwd qupyp gnwdwpp sh Yupnn gbipwquiugti
Yunniguwwundwt woluwwnwupubiph uwnwpdwu vwfuwhwayh gndwph 80%-p

v Ywnnigynn puwybih wupwnd gnyph (Ywnnigynn pwqiwptwwpwi stupnid
puwywpwuh) abnp ptipdwt bywwnwyny npwdwnpynn Jupybpp nmpwdwnpynud
GU thnywihu Gnwuwyny

v Ywnnigynn puwlybh wupwnd gnyph (Yunnigynn pwqlwptwlwpwtu otupnid
puwlywpwup) a&bnp pbpdwu nbwpnwd Jwpyph gnwwpp  thnfuwugynd  k
Yuwnnigwwwwnnnh hwwunnwy hwyhtu b wdpnnoniejwdp uwnbtigynid k, bl w)| pwu
uwhdwuywéd sk 44 npnodwdp

v' Unyu dpwaph 2npowtwyubpnd <wdwywpywnne (U/Jwd ubithwlwuwnbp) Yupnn
Gu hwunhuwy] Jhwjiu punwupph wunwdubpp' hwjpp, dwjpp, wdnwpup,
wdntuunt dunnubipp, mwunp, ywwp, pnypp, Gnpwpp, GpGluwubpp, ppng, tinpnp
wdntuphuu nt Gpbluwubipp:

v EU Jupybph  wnwiduwhwnlynpymuutpp vwhdwbtwjwéd Gu «ULL
Puwlwpwuwipt  JEpwhhuwtuwynpnd  5-pn thny  dpwqghp, Jwplbpp
YyEpwhhuwuuwynpdwn upgny»:







1.5. «6PPSUULMTY LCLSULPLPL UUSALP ALULUCLULY TPrUS P
cruvuulernhy <heNf6LU3NL YUMrUGrh SFULU UL UULMU3VULLER

(HFY)®
Tnypubkp Mujdwuubp
Jwplwnniubp £<L pwnuwpuwgh Ywd ££ nbighnbun $hghywywu wudhp
Swphpwjhu v Wdnwhuubph nwphpwjhtu hwupwgndwp' 70
uwhdwuwthwynd v Uhwjuwy dunnh nbwpnid' 20-35

Jwplyh byywwnwy

Puwybih wupwpd gnyph (gnjnyentu niutignn Ywd Ywnnigynn) dbnppbipnid

Jdwpyp dwpdwu dwdybin

120 - 180 wdhu

Jdwplh wpdnyp

<< npwd

Uwpdwu nwuwy

1. Uunthnbun (wduwlwu hwjwuwpwswih yéwpubn)
2. dwpyp gnidwph wduwlwu hwjwuwpwswih ydwpubp

Spwdwnpdwu Ybwp

Upwudwg' Juwpyh gnuidwph 0.8 %-h swihnyd (ujuwqugnyup' 30°000 << npwid)

“thdntd hwjwnh
nunwuwuhpnijwu Yybwn

5'000 << npwd

UWnwouwjhu oniyw’

EpYpnpnwyht nlyw

Swpbywu wnynuwnpnyp | 7.5% 8.0%
Swpbtywu wnnynuwnpnyph | Lwjuwnbugwsd sk v Gplwu pwnwpnd  wupwnpd gnyp
untpuhnwynpntd abnp pbipbnt nbwpnd' 2%

v L dwpgbipnd wupwnd gnyp &btinp
pbpbint nbwpnid' 4%

Jdwpyh gndwp

Lwqugnyup' 17000'000 <L npwd
Unwybjwgnyup' 27'750'000 << npwd

Lwqugnyup' 17000'000 <L npwd
Unwybjwgnyup' 22'500'000 << npwd

Ywutuwybwph swth

Lywqugnyup wuownpd gnyph
Gtinpptipdwu wpdtiph 20%-h swithny
dtinppbipynn U |pwgnighy  wupwnd
gnuph  gpwywnpdwtu  nbwpnd
ujwquagnyup wuownpd gnhyph
Gtinpptipdwu wpdtiph 7.5%-h swihny

Lywqugnyup wuownpd gnhyph
&binppbpdwu wpdtiph 30%-h swihny
dtinppbipynn U |pwgnighy - wupwind
gnyph  gpwywnpdwt  nbupnud
ujwquagnyup wuownpd ghyph
&binppbipdwu wpdtiph 10%-h swihny

Unwybjwagnyu

Hwnl/gpwy
hwpwpbpwygnie)niu

v Qtinppbipynn  wtpwnd  gnyph
gpwywnpdwu nbwpnid’
wnwybjwagnyup &tinpptipynn
wuownpd gnhyph quwhwwnywd
ontywjwlwu/dbnppbpdwu  wpdtiph
80%

v dwplyh gniwpp Yupnn £ Yuqdby

v Qtinppbipynn  wlpwnpd  gnyph
gpwywnpdwu nbwpnid’
wnwybjwagnyup atinpptipynn
wlownpd ghyph quwhwunywd
ontjwjwlwu/dbnpptipdwu  wpdtiph
70%

v dwnplyp gndwpp Jupnn £ Yuqdb

wnwybjwgnyup - gpwyh  wpdbiph wnwybjwgnyup - gpwyh - wpdbiph
92.5%-p, tiet wnlyw & hpthnpbpw)hu 90%-p, Gebt wnyw L hhthnpbpw)hu
wwpuwynpnyajwu wwnwwynpniRjwu

wwwhnjwagpnyentu 4/S gnpdwygh wwwhnjwagpnyentt 4/S gnpdwlygh
80%-pn  gbpwqwugnn  gnuwph 70%-p  gbpwqwugnn  gnuwph

6 Quuwudniubip' 0041, 0042, 0043 L 0062
7 Quuwiudnipubin' 0114 L 0115




swihny: <hthnpbipwihu
wwpuwynpnyajwu
wwwhnjwagpnyeniup wtwnp £ gnpdh
wnujwqu dhusk wju wwhp, Gpp
upunnit Jupbp - gnidwiphg
Yywwwph /S gnpdwlgh 80%-np
gipwquugnn  gnudwph - gwthny
Jéwpnid:

dtinpptindnn U |pwgnighy  wupwnd
gnyptiph  gpwywnpdwu  nbupnud

wnwybjwgnyup atinpptipynn
wupwnd gnyph
ontywjwlwu/dtnppbpdwu W

Inwgnighs wugwnd gnyph
ontjwjwlwu wpdtipubiph
hwupwgnwwnph 80%, pwyg ny wyb,
pwu &binppbipynn  wupwpd gnyph
quwhwunywd
ontywjwlwu/dbnppbpdwu  wpdtiph
92.5%

Yuwhwunywd onlyuywyw W
Gtinpptpdwu wndtipubiph
twppbipnipjwu nbwpnwd
qunl/gpuy  hwpwpbpwlgnipjuu

hwdwp hhdp £ dbipgynud  wnwybi
thnpp wpdtip niubignnn:

swihny: Chihnpbipuyht
wwnwwynpniRjwu
wwwhnjwagpnieniup wtiwp k gnpdh
wnujwqu dhusk wju wwhp, Gpp
ywplwnnis  Jupyh gnudwphg
YYwwwph 4/S gnpdwygh 70%-p
qpwquugnn  gnudwph - gwthny
Jéwpnid:

dtinpptingnn U |pwgnighy  wupwind
qnyptiph  gpwywnpdwtu  nbwpnu

wnwybjwgnyup abinpptipynn
wupwnd qnyph
ontjwjwlywu/dbnpptipdwu i

Inwgnighs wlpuwnd qnyph
ontjujwlwu wpdtiputinh
hwupwgnwwph 70%, pwjg ns wyb,
pwl a&bnpptinynn wupwpd gnyph
quwhwwunywd
ontjwjwlwu/dbnpptipdwu  wpdtiph
90%

Fuwhwunywd onlyujwyw ]
&binppbpdwu wpdtiputinh
tnwppbipnyejwu nbwpnud

qunl/gpwy  hwpwpbpwygnigjuu
hwdwp hhdp £ ybipgynd wnwybi

thnpp wpdbip niubignnp:

Uwwhnydwu dhong

atinpptipynn gnyph gpwy, wuhpwdbonnipwu nbwpnid twl |pwgnighs puwybih
wugwnd gnyph gpuiy:

Ywnnigynn puwybih wupwnd gnyph (Ywnnigynn pwqdwptwlwpwu otupnid
puwywpwup) dbnp pbpdwu nbwpnid Jwpyph wwwhnyniejwu dhong Ywpnn L
hwunhuwtuw| w) puwytih wupwpd gnyp W/Ywd Ywnnigynn puwlybh wupwpd
gnyph (Ywnnigynn pwqiwptwlwpwu s6upnd puwlwpwuh) qudwu hpwyntupp'
wwjdwuny, np &binp pbpynn wupwpd gnypp  gpwywnnpybiint £ 80-100%
wywpunywdnipjwu wunhbwu unwuw|nig htiwnn:

<hduwlwu  wwwhnydwtu  dhongp wbwp £ nmubuw  ujuqugnyup  80%
wywpunywdnijwt  wunhbwu (pwgwnnigjwdp Ywnnigynn puwlbih wupwnd
gnhyph (Yunnigynn pwqdwptwlwpwu otupnd  puwlwpwuh)):  Unweuwihu
2ntyuyhg thnywiht Jwplh ybipght thnyp wtinp £ npwdwnpyh wpwnd gnyph' 80 L
wybih nnynu wwpunywdnipjwt wunhbwu niubuwnt nbiwpned:

Muwpunwnhp gpwywnpdwu Gupwyw |pwgnighs wupwnd gnypp wbwnp E niubuw
100% wywpunywdnipjwl wunhbwu:

Uwwhnjwagpniejniu

w) wupwpd gnyph wwwhnjwagpnigyniu’ Jupyh gnwdwph duwgnpnh tfuundwdp’
hwdwdwju Cuytipnypjwu htinn hwdwagnpdwygnn Yuqdwytpwnieniuutiph Ynndhg
uwhdwujwé uwlwqubiph bW O4dY wwhwugubiph:

p) ndpwjfun wwwnwhwnpubiphg Jupwlwnnih/hwdwywpywnniubipp
wwwhndwgpngniu’  Jupyh  gndwph  duwgnpnh  ufundwdp'  hwdwdwju
Cuybpnigjwu  htnn hwdwgnpdwlgnn  Yuqdwybipynyeniuubph  Ynndhg
uwhdwujwé uwlwqutiph bW O4dY wwhwugubiph:




q) hpthnptipwht - wwpuwynpnygywt  (Ywutuwydwph - dh - dwuh - swihing)
wwwhnqwagpneniu (wnywjnyejwu nbwpnid)' ywywu Jéwpjwsd Ywufuwdbwph
gndwph  swihnd' hwdwdwju  Cuybpnyejwu hbn hwdwgnpdwlgnn
ywquwybpwniejnwuutpp - Ynndhg  uvwhdwujwd  uvwlwqubph L O4dY
wwhwueubiph:

W ywydwuubp

v' Unwouwyihtu ontljwihg adbnp pbtipynn gnyph &binpptpdwu wpdbpp Ywpnn &
Ywquti| wnwybjwgnyup 30'000'000 << npwd, huy << YUUSFYUNY-h Ynndhg
hpwwwpwyynn mbnbywwnyniejwu hwdwdwju' 31'000'000 <L npwd,

v Bpypnpnuyht onilyuyhg Gbinp pipynn gnyph atinpptipdwt wpdtipp Ywpnn |
Ywquti] wnwybtjwgnyup 25'000'000 << npwd, huy << YUUSFYUNY-h Ynndhg
hpwwwpwyynn mbnbhwnynigjwu hwdwdwju' 26'000'000 ££ npwd,

v SYjwy dpwgpny wudp Ywpnn E Jwplywynpyb dbYy wuguwd,

v Ywnnigynn puwytih wupwpd gnyph (Yunnigynn pwqdwptwwpwu otupnid
puwywpwuh) &bnp  pbGpdwt  bwywwwyny  wpwdwnpynn  Jwpybpp
wnpwdwnpynud Gu thnywihtu nwuwyny

v Ywnnigynn puwybh wupwpd gnyph (Yunnigynn pwqdwptwlwpwu otupnid
puwlwpwup)  &bnp  nbwpnd  Jwpyph  gndwpp  thnfuwugynd -k
Ywnnigwwwwnnh hwwnnty hwogdht bW wdpnnoniejwdp uwntigynd &, Gt w))
pwu uwhdwudws sk Y4 npnpdwdp

v Unyu dpwgphp 2powtwyubpnid <wdwywplwnnt Yupnn Gu hwunhuwt) dhwju
puinwuphph wunwdubpp' hwypp, dwjpp, pnypp, Gnpwipp, wdnwpt, wdnwunt
dunnubipp, pnypp U npwypp:




1.6. UbdUuUUL nsunrruLernd <heN@6LU3hL Yurusrh SPUUUHUUL

mu3uvuuuers
Tpnypubkp Mujdwuubp
Jwplwnniubip £< pwnwpuwgh b ££ nighnbuwn $hghlwlwl wushp
Jwnyp tywnwy?® Uupwnd  gnyph  Ybpwunpngnud, | Wupwnd gnyph (gnnieyntt niubignn Yud
pwpbijwynwd Ywnnigynn) &binppbpnud,
Junniguwwwnnwd
Ydwnpyh dwpdwtu dwdytin | 18 - 84 wdhu 18 - 120 wuhu
Jdwpybiph wpdnyp L npwd
Swpbywu wninynuwnpnyp | 15.5% 14.5%

Jdwpyh gndwp

Lywqugnyup' 3'000°000 << npwd
Unwybjwugnyup' 45'000'000 << npwd

Uwpdwu nwuwy

1. Uunthnbun (wduwlwu hwjwuwpwswih yéwpubn)
2. dwpyp gnidwph wduwlwu hwjwuwpwswih ydwpubp

Spwdwnpdwu Yéwp

Uhwudwg' Jwpyh gnwwph 1.5 %-h swihny (ujwqugnyup' 45'000 << npwd)

“thdnud hwjwnp
nwnduwuhpnyjwt Jéwn

5’000 << npwd

Ywutuwybwph swth

Abinppbipynn wuswnd gnyph gpuwdwnpdwu nbwpnid’ uwqugnyup wupwnd gnyph
atinpptipdwu wpdtiph 30%-h swihny

Atinpptinynn U [pwignighy wupwnd gnyph gpwywnpdwt nbupnd” ujwquignyup
wuownd gnyph dbnppbipdwu wpdtiph 10%-h swihny

Unwybijwagnyu

Hwnl/gpwy
hwpwpbpwygnie)niu

v JGpwunpngynn wupwpd gnyph quwhwuinydwsd ontuwjwywu wpdtiph 70%-p

v’ &bnppbipynn  wuowpd gnyph gpwydwnpdwu  nbwpnd'  wnwybwgnyup
&tinppbipynn wupwnd gnyph qguwhwwnywd ontjwjwlwu/dbnppbpdwu wpdtph
70%

v’ &Gbnpptinynn L jpwgnighy  wlpwpd  gnypliph  gpuwywnnpdwl  nbwpnu®
wnwybwgnyup abinppbtingnn wuownpd gnhyph quwhwwnywd
ontjwjwlywu/dbnpptipdwu b |pwgnighs  wupwnd  gnyph  ontujwywu
wpdtipubiph hwupwagndwph 70%, pwyg ns wyb), pwu dbnppbipynn wupwpd
ghyph quwhwunywsd ontywjwywu/dbnpptipdwu wpdtiph 90%

v abinpptpdwtu Jwpytiph nbwypnwd guwhwndwsd ontlujwywu b dtnppbpdwu
wpdbtipubiph  wwppbpnyEjwtu  nbwypnid  Jwnpl/gpwy  hwpwpbpwygnyejwu
hwdwp hhdp L ytipgynud ujwquagnyup:

v Ywunnigynn W [pwgnighs wbpwnpd qgnypbiph quwhwwnywd ontluwjwlyw
wpdtipubiph hwupwgnwwnph 70%

Uwwhnydwu dhong

Jdbpwunpngynn, pwpbjwyynn, dtinpptindnn (gnjnyentt niutignn jwd Yunnigynn),
Ywnnigwwwwnynn, wuhpwdbnnypiwu nbwpnd twlb (pwgnighs wupwpd gnyph
gpuiy:

Ywnnigwwwwdwu Jwpybph nbwpnwd npwbu [(pugnighs wwwhnydwu dhong L
Ywpnn £ hwunhuwtw| wy 2wpdwlwu/wurwpd gnyp: Swulwgwsd nbiwpnid
(Inwgmighs  gnuph  gpuywnpdwdp Ywd  wnwug npw) Juplyh Jepght thnyp
wmpwdwnpbiingg  wnwe  JwpYy/gpwy  hwpwpbpwygnieniup wbwp £ Juqdh
wnwyblugnyup 70%' ubpwnjw| ytpohu thnyny wnpwdwnpybijhp gnidwpp:

8 Quwudnipubp' 0073, 0109, 0110, 0111, 0112, 0120 L 0129
9 dwpluwwnbuwyh opowtwlutipnd pnyjwwnpynud £ wy $huwtuwlwu Yuwnnygubiph Ynndhg togws twwunwyny npwdwnpywsd

Jwpybpp yepwdbhuwuuwynpndp:




bwnnigynn wuowpd gnyph (Yunnigynn pwqiwptwlwpwu otupnd wupwnd
gnyph) &btnp pbpdwu nbwpnd  Jupyph wwwhnynejwu  dhong Ywpnn k
hwunhuwuw| wj wupwpd gnyp WHwd Ywnnigynn puwlbih wupwnd gnyph
(Yunnigynn pwqiwptwlwpwu oGupnd wupwnd gnyph) qudwu phpwyniupp'
wwjdwuny, np &bnp pbpynn  wupwpd gnypp gphwywnpybint £ 100%
wywpunywdnigjwl wunhbwu unwuwinig hbwnn:

<hduwlywu wwwhndwu dhongp wbwnp £ niwbuw 100%  wjwpunywdniypjwu
wunhbwu (pwgwnnipjwdp unnigwwwwdwt b Ywnnigynn puwybh wupwpd
gnyph (Ywnnigynn pwqiwplwwpwu 2Gupnid wuowpd gnyph) &tinp pbpdwu
Uwwunwyny npwdwnnpynn yupytiph, huswybtiv twl junniguwwwndwu yupytnh):
Muwpunwnhp gpuwywnpdwu tupwlw |pwgnighs wupwnd gnypp bu wbwnp £ niubuw
100% wywpunywdnipjwl wunhbwu:

Uy wwydwuubp

v Ywnnguwwwwdwu Jwpybpp wpwdwnpynd Gu hnywiht Gnwuwyny, pun
npnud Ytipght thnyp winp £ ihuh upyh gnuwph 20%-hg ng wyti

v Yuwnniguwwwwndwu Junpybph nbypnud Jupyh gnidwpp sh upnn gbipwquiugt)
Yunniguwwwwundwt wofuwnwupubiph Yuwnwpdwt bwuwhwoyh gnidwnph 80%-
n

v' Ywnnigynn wupwnd gnyph (Yunnigynn pwqiwptwwpwu sGupnid wupwnd
gnyph) dbnp ptipdwu uywwnwyny wpwdwnpynn Jwnpybipp npwdwnpynud Gu
thnywjht Gnwuwyny

v Ywnnigynn wupwnd gnyph (Yunnigynn pwqdwptwlwpwu 2tupnd wupwpd
ghyph) atnp nbwpnwd wpyh gnwwpp thnfuwugynd £ Yunnigwuwwwnnnh
hwunnwy hwayht b wdpnnonypjwdp uwnbgynd &, Gl w)| pwu uwhdwuyws sk
44 npnpdwdp




2. ulcurd anr3£p 9rudnd unu<ndyuo vnunnauuwul yurusrp

sruvuruul musuvuuuer

2.1 sUUUNKRSLENh PUUSU1EFU3PL <PULUYNMUUWU R UNUMANTULUUL

Jurusreh sruUuA UL MU3vuLLEr

Tpnypubp Muydwuubp

Jwplwnniubp << punuwpwgh b ££ nbghnbuwn $hghlwywu wudhp

Jdwpyh tywwnwy Fwgwnwwbu wuduwlwu, puinwubwu nuwiht Yuwd w)| oginwgnpddwt hwdwn
Uwpuwwnbujwsd,  dGnuwplwwnphpwlwu  gnpédnwutinugjwtu hbin  suwywsd,
wwpwupubiph  (woluwwwupubiph,  dwnwjnieniuutiph)  wwwydhpnd  Ywd
Gtinppbpnud

Jdwpyp dwpdwu dwdyticn | 84 wdhu

Ywpyh wpdnyp << npwd

Swpblwu wninynuwnpnyp

17 %

Jdwpyh gndwp

Unwohu gnwnp' 2'000'000 - 15'000'000 << npwd
Gpypnpn gnnp' 2000000 - 10'000°000 << npwid

Uwpdwu nwuwy

1. Uunthnbun (wduwlwu hwjwuwpwswih yéwpubn)
2. dwpyp gnudwph wduwlwu hwjwuwpwswih ydwpubp

Spwdwnpdwu Yéwp

Uhwudwg' Juwpyh gnwwphp 1.5 %-p swihny (Ujwqugnyup' 30'000 << npwd)

“Hhdnwd hwjnp | 5000 << npwd

nunduwuhpnyjwt Jbwn

Unwybjwagnyu 1. Uugwpd gnyp' Unwohu gnunp - ontyujwlwu wpdbph 60%
Jdwpl/gpuy 2. Uupwpd gnyp' Gpypnpn gnuinp - onyuywlwu wipdtiph 50%
hwpwpbpwlgnipntu

Uwwhnydwlu dhong

Utownd gnyp

UnwohU gnwnp

p. Bplwt, pwgwnnigjudp hbnlyw| hwugbubipp'

- Uwph pwnh pninp thanngubipp b gwipptipp,

- Npduwnhputiph thnnng,

- Yhufwyp thnnng (Funptitiwgh thnnngh htinn hwwnnwihg dhusl Uwph pwn),
- Ununh thnnng,

- Ukidtinu Gpliwugnt thnnng,

- Mnwipwybint thnnng,

- dphyh thnnngh hhu 2Guptip,

- Ungliptih thnnng,

- Unipp <ndhwuttuh thnnng,

- Lnpwgynin pwnwdwu,

- @whpnyh thnnng,

- Eodhwduh hpu fubninp,

- Cbuquyhpe  Jupswlwu gpowunud  guntidnn Fuwppbipnh
pwnwdwuntd

wdwnwungubip

Epynpnpn gnwnh

Pninp wju lmwpwdpubipp, npnup s&U dnund wnweohtu gnwnnt ko

10 Quwudniy 0047




2.2 6UUUNKRSLENP PUUSUME1EFU3PL <hULUYNMNRU 2MIUKULRN

ununnuuuyuL yurysrkh SPUUULANUUL MU3UULLENT

Tpnypubp

Muydwuubp

Jwplwnniubp

£< pwnwpuwgh b ££ nighnbuwn $hghlwlwl wudhp

Jdwpyh tywwnwy

Pwgwnwwbu wuduwlwu, puunwubywu nuwjht Ywd wy ogunwgnpddwu hwdwp
Uwpuwwnbuyws,  dGnuwpyuwhpwywu  gnpdniubniEwu hbin suwyws,
wwpwupubiph (wofuwwnwupubiph, dwnwjniejniuutiph) wwwyhpnud Ywd dtinppbipnid

Jdwpyp dwpdwu dwdybin

84 wdhu

Ywpyh wpdnyp

L npwd

Swpblywu wninynuwnpnyp

18.5%

Jdwpyh gndwp

Unwohu gnwnp' 2'000'000 - 15'000'000 << npwd
Gpypnpn gnnp' 2000000 - 10'000°000 << npwd

Uwpdwu tnwuwy

1. Uunthnbun (wduwlwu hwywuwpwswih yéwnpubn)
2. dwpyph gnuidwph wduwlwu hwwuwpwswih yéwpubp

Spwdwnpdwu Ybwp

Uhwudwg' Jwpyh gndwpp 1.5 %-h swihny (uwqugnyup' 45'000 << npwd)

“Hhdnwd hwjwnp | 5000 << npwd

niunwuwuhpnijwu Yybwn

Unwybjwagnyu 1. Uupwpd gnyp' Unwohu gnunp - ontuwywlwu wpdtiph 50%
Jdwpl/gpuy 2. Utpwnd gnyp' Gpypnpn gnuinp - onyuywlwu wpdbiph 40%
hwpwpbpwygniejniu

Uwwhnddwlu dhong Uuownd gnyp

Uwwhnqwgpnipe)ntu Uwwhnqwagpnieiniup Yuwnwpynwd £ pun wuhpwdbownnigjwu:

Uwwhndwagpnipjuu dwiuubpp Yuwwwpynd Gu quplwnnih Ynndhg' hwdwdwiu
wwwhnjwagpwlwu puybpnigniutph uwlwgubph:

UnwohU gnwnp

p. Bplwt, pwgwnnipjudp hbunlyw| hwugbubiph'

- Uwph pwnh pninp thanngubipp b gwipptipp,

- Npduwnhputiph thnnng,

- Yhufwyp thnnng (Funptitiwgh thnnngh htinn hwwnnwihg dhusle Uwph pwn),
- Ununh thnnng,

- Utidtinu Gpliwugnt thnnng,

- Mnwipwybint thnnng,

- dphyh thnnngh hhu 2tuptip,

- Ungliptih thnnng,

- Unipp <ndhwuttuh thnnng,

- Lnpwgynin pwnwdwu,

- @whpndh tinnng,

- Eodhwduh hpu fubninp,

- Chuquydpp Jwpswywu opowund  guuynn  fuwppbpnh  wdwnwungubip
pwnwdwuntd

Epynnpn gnwnh

Pninp wju lmwpwdpubipp, npnup s6U dinuntd wnwoht gnunnt dbio

Lpwgnighs wywjdwuubip

dwpywynpnudp  ppwywuwgynwd £ hwdwdwju  <<Spwyny  wwywhnyqwd
uywnnnwywu Jwpytpph  wnpwdwnpdwu>> Ywpgh: SYyjw] Jwplwunbuwyhg
ogwnybiint hwdwp wuhpwdtion £ niubuw| Yw'd ywonnuwywu (wnwotwihu) Yud ng
wwownnuwlwu (Gpypnpnwiht) GYwdnunubp, jud npwug hwdwygnie)niu:

1 Quwudniputip' 0064, 0069, 0072




3  «uunrrR» Nhdy eLL-h UsdULUUL NEUNRPULENNY APRLEU
(A3NMLUSLSEUULUL) YUrYP SPUUUANUUL MUSUULLEN?

Tpnypubp Muwjdwuubp
Jwplwnniubp <L pwnwpwgh U << nbghnbun wuhwwn  dGnuwplwwnbp, <L nbghnbuwn
hpwwpwuwlwu wudhup, gninuununbuwywu Juplybph nbwpnd' twl <<

pwnuwpuwgh b ££ nighntuwn Phghlwywu wud
Jwpyh tywwnwy $npp L dhoht' wyn pYnwd gninulwu phqubup qupgqugnid, huswybu uwl wn

ghpoéniubinejw pupwgpnd wnwowgwd Yptinhnnpwwu wwnpwph dwpnid

Cpowuwnnt dhongubiph hwdwpdwu | Ywwhww| ubpnpndubph hwdwp'

hwdwp
Jwpyh dwpdwu dwdybin | 36 wdhu 36 - 72 wdhu
UUUL nnjwn
Jwpyh dwpdwu dwdytinn | 36 wdhu 36 - 60 wdhu

L npwd

Jdwpyp dwpdwu
wpwunujw| dwdlybizm UUL
nnwn

Uhusl 3 wdhu Uhtsl 18 wdhu

Jdwpyp dwpdwu
wpunnuju  dwdytinm <L
nnwu

Uhusl 3 wdhu Uhtsl 12 wdhu

Jwpyh wpdnype

< npwd, UWU'L nnjwp

Swpblwu wnnynuwnpnyp
Uuvu nnjwun™

13%-15% 12%-14%

Swpblwu wnnynuwnpnyp
L npwd

16-18% 15-17%

Jdwpyh gndwp

Lwqugnyup' 6'000 UUL nnjwp, 3'000'000 << npwd
Unwybjwgnyup' 150'000 UUL nnjwp, 70'000'000 << npwid

Uwpdwt Gnwuwy

1. Uuntpinbun (wduwlwt hwjwuwpwswih yéwnubip)
2. dwpyh gndwph wduwlwu hwywuwpwswih yéwpubn
3. Uy hwdwwwwwuuwubgywsd hwdwfunpnh npwdwywu hnupbphu

Spwdwnpdwu Ybwp

Upwudwg' Jupyph gnidwpp 1.5 %-h swipnd, ujwqugnyup' 45'000 << npud,
wnwybjwagnyup' 400'000 << npwd

“thdnwd hwjwnh
nunwduwuhpnyejw yéwn

Uhugl 10000000 << npwid (hwdwpdbip wpnwpdnye) Jupybph nbwpnid- 77000
<< npwd; 10'000°000 << npwid b wyby (hwdwpdbip wpunwpdnye) qupybpp
nbiwpnu - 15'000 << npwd

Unwybijwagnuyu

dwnl/gnpwy
hwpwpbpwygnipentu

w) wuownpd gnyp - 2ntyuywlw wndtiph 60%,
p) inpwuuwnpwwihu dhongubip b gjnin wnbGfuuhyw - ontwjwlwu wpdtiph 50%,
g) wy| 2wpdwywu gnyp - ontjwjwlwu wndtiph 40%:

Uwwhnydwu vhong

Uupwnd U pupdwlwu gnyp

12 Quwtidniptiin' 0029 UL 0070

B Yuypipwy bapnpnudtinh nbwpnid jpowbwnnt dhongltinh hwdwinnidp uwpluyhtt dpongblipth hwipdpl swbipp E glipwquiigh
Ywplwnnipti inppwidwinpynn Jupyh wdpnng gnidwph 40%-p

¥ Snynuwnpnyph bdwqugnyti b dhopti sdlpp Gwpnn Gt ppwdwnpyby wdwanyl b hnwuwh hwbwfunpntitp bepgpuwydybnt,
huswbu bwl CulGpnigyut jnyuy; <wdwpunpnubiph htiyy Gpuwlupwipl hwdwgnpdwlgniyaynii wwwhnybnt bwwiypwlyny:




4 UUPULUL RUMGUSUUL PULUD HULULS A6NLENESNRE-3UL NLNMSh
uuusu Ul b4 QUMEUSUUL orugrr dursudnruus
MU3UULLLr (ADB)"™

(PPRLLEU UMy gNrourur)

Tpnypubp Muwjdwuubp

Jdwplwnniubp <L pwnwpwgh b << nbghnbun Shghlwlwu wudhup (wn pYnd wuhwwn
dGnuwnlywwnbiptin)
<L nighnbuwn hpwjwpwuwywu wudhup

Jdwpyh tywwnwy @npp W dhohu phqubuh qupgugnid
Cpowuwnnt dhongubiph hwdwpdwu | Ywwhwnw ubpnpnuubph hwdwp'®
hwdwp

Jdwpyp dwpdwu dwdyticn | Upusk 36 wdpu Uhusl 84 wdhu

Jdwpyp dwpdwu | Uhusl 9 wdhu Uhusl 24 wdpu

wnwunujw| dwdybin

Ydwpyh wpdnype << npwd

Swpblwu wnnynuwnpnyp | 12.9 %

Jwpyh gnudwp Lywqugnyup' 3'000°000 << npwd
Unwybjwagnyup' 50'000'000 << npwid

Uwpdwu tnwuwy 1. Uunthnbun (wduwlwt hwjwuwnpwswih yéwnubin)

2. dwpyh gndwph wduwlwu hwwuwpwswih yéwpubn
3. Uy hwdwwwunwupuwubgwd hwéwfunpnh npuwdwlwu hnupbphu

Spwdwnpdwu ybwnp 0 %

“thdnud hwjwinh | -

nunwuwuhpnijwu Yybwn

Ubithwlwu ubpnpnud Lbpnpnwwjhu  dpwagph  gnwwph  ujwqugnyup 20%-p wbwp £ Ywuwwpyh
Jwplywnnih ubthwlwu dhongubinny

Uwwhnydwu dhong Uupwnd U pupdwlwu gnyp

Unwybjwagnyu w) wuownpd gnyp - ontjwjwlwu wpdtph 60%,

Jdwnly/gpwy p) inpwuuwnpwwihu dhongubip W gjnin inbfuuhyw - ontywjwlywu wpdtiph 50%,

hwpwpbnwlgnip)niu g) wy| 2wpdwywu gnyp - ontuwjwlwu wpdtiph 40%

15 Quuwitidnyy' 0052

18 Yuuypywy tepnpmidaph nbwpnid spowtiwunnt dhongbiinh hwdwynnidp Juipluyhti dhongtiiph hwpypt swhyp £ glipuquiigh
Ywplwnnipti (ppwdwnpynn Juipyp wdpnne gnidwpph 20%-p, Grel wy pwt uwhdwbyws sk Ybpwdphtwbuwynpnn pblylipniewb
lnndhg:




5 43NhULUL ShLULUUYNCUUL YWUNNKR3S Orurersrh PPULULUSU UL

ruusL3uy

AU b4 59DHU Oruarp crutuuLeMrnhyU 43NMIUSLSEULLUL YUrysrh

SruUuHUuUL Mu3vuLuer (RFF)

(uarnj
Tpnypubp Muwjdwuubp
Jwplwnniubp << pwnuwpuwgh b ££ ntighnbun $hghjuwywu (bwb wuhwwn dGEnuwplunbiptip)
wudhp
<L nighnGuwn hpwywpwuwlwu wudhp
Jwpyh tywwnwy @npp U dhohtu gyninuijwt phqubtiup quipgwgnd
Cpowuwnnt dhongubiph hwdwpnid Ywwhwnwy ubpnpnuiubp'
Jdwnyph dwpdwu dwdybn | Uhusl 24 wdhu 24 - 84 wdhu

Jdwpyp dwpdwu
wpunnujw| dwdlybin

Uhusl 12 wdhu Uhtsl 18 wdhu

Jwpyh wpdnype

<< npwd, UWUL nnjwp

Swpblwu wnnynuwnpnyp

L nppwd - 12.0%"
L npwd - 10.0% (hwdwdwju <L Ywnwywpnipjwu 15 hntujwph 2015p. N 30-U

npnadwdp hwunwwnywsd uwhdwuwdbipd hwdwjupubph gwuyh)
UUL nnpwn - 9.0%

Jdwpyh gndwp

Lywquagnyup' 3'000'000 << npwd (6'000 UUL nnjwp)
Unwybjwgnyup' 60°000'000 << npwd (150°000 UUL nnjwip)

Uwpdwt Gnwuwy

1. Uunthinbun (wduwlwt hwjwuwpwswih yéwnubip)
2. dwpyh gndwph wduwlwu hwwuwpwswih yéwpubn
3. Uy hwdwwwunwupuwubgwd hwéwfunpnh npwdwlwu hnupbphu

Spwdwnpdwu ybwp

Uhwuywq’ dunlh gnudwph 1%-h swihng

“thdnwd
nwunwdbwuhpniejwu Ybwp

hwjwnh

Sphghjwywt wud | Ppwywpwuwlwu wus b Uuhwun AEnuwplwuntip

Uhusl 10000000 << npwd  (hwdwpdbp wpunwpdnye)
Jupybiph nbwpnu - 7000 << npwd

10'000'000 << npwd b wyby (hwdwpdbp wpwnwpdnyp)
Jupybiph nbwpnu - 15000 << npwd

5'000 << npwd

Ubthwlwu ubpnpnud Lbpnpnwwjhu dpwagph gndwph ujwqugnyup 20%-p wbwp £ Yuwwnyp
Jwplywnnih ubthwlwu dhongubinny

Spwdwnpdwu .

woluwphwapnipyny L nwpwdp, pwgwnnijwdp Gplwl pwnwph

7 Quwbidnptp' 0024 L 0026

8 Yuwwhywy bepnpnidulinh nwpmd ppowbiwnnt dhonglbinh hwdwipndp Jupluyhti dhongtiiph hwodpt swbyp E qlipwquigh
Juplwnnipt inpwdwnpynn Jupyp wdpnne gnidwpp 20%-p 34 bhtiwbuwynpdwt nbupnid, 30%-p' 6FSU phtiwtivwynpdwt
nbwpnd, Gt wy pwl uwhdwbyws sk Yepwphtiwbuwynpnn pblylpnipyuwi Ynndpg:

19 Uyt hwéwpunpnbipp, nypbip nhdty 6o wy pphwbuwlwt Yuquwlbpynysnibblinh Juply uypwbwne fubinpuwlbipny b uypwgty Go
dbnpdnud, Ywd <wbwfunpnh Ghwdnuptibnn (npw Gunnigdwdpp) nhuljught G, Yud wnlw £ pwguwuwlwb/stqnp Jupluyht
wuwipdnieynil, uwlwyli YGpntgjwy nhuljlipp Yonynid &u Culylpniayuwt Ynndpg U Guywgymd £ Jupluwynpdwt npwluwt npnpnid,
Ywplyh qpwnpblwt pinynuwnpnypp Yuipnn b uwhdwuyby dhtsl 2 (Gpynt) gonynuught Yy puwpdn:




Unwybijwagnuu w) wuownpd gnyp - ontjwjwlwu wpdtph 60%,
dwpl/apwy p) inpwuuwnpwwihu dhongubip W gjnin inbfuuhYw - ontywjwlywu wpdtiph 50%,

hwpwpbinwlgnip|niu g) wy| 2wpdwywu gnyp - ontuwjwlwu wpdtiph 40%

Uwwhnydwu dhong Uupwpd U qwupdwlwu gnyp




6 qbtMruutudusuuuul <hUturuy (9<<)

<< §3NMUSLSEUNRG-3UL NLNMSh URKULSU UL Uuarn-lil oruarh
cruvuyvsrnhu SPLWUUHYdN dUrUErh MU3UULLEN KFW

(UGPN UM GUSNRY)2

Tnypubp Muwjdwuubp

Jwplwnniubp <L pwnuwpwgh b ££ ntighnbuwn $pghlwyw (bwlb wuhwwn dGnuwnplyuwwntintn)
wudhp
L nbghnbuwn hpwjwpwuwywu wudhp

Jdwnyp tyywwnwy ®npp U dhohu gjninulwu phqubiup qupgqugnid
Cpowuwnnt dhongubinh hwdwpnud Ywuwhwnw ubpnpnwiutbp Ywd

hwdwygnieyniu?

Jwpyh dwpdwu dwdybin | 8 - 36 wdpu 24 - 60 wdhu

Jdwpyp dwpdwu | 3 - 15 wdhu 3 - 30 wdhu

wpwnnujw| dwdlybin

dwpyh wnpdnyp < npwd

Swpbywu nnynuwnpnyp | 12.50%

Jdwpyh gndwp

Lywqugnyup' 4000'000 << npwd
33'000000 <<

Lywqugnyup' 4000'000 << npwid

Unwybjwgnyup' Unwybjuwgnyup'  160'000'000 <L

npwd npwu

Uwpdwt Gnwuwy

1. Uunthnbun (wduwlwu hwywuwpwswih yéwpubn)
2. dwpyp gndwpph wduwlywu hwwuwpwswih yéwpubp
3. Uy hwdwwwwnwupuwubgwd hwbwfunpnh npwdwlwu hnupbiphu

“thdnwd hwjwnp
nwuntdbwuhpniejwu
Yowp

Spwdwnpdwu Ybwp

0%

Unwybjwagnuyu

Hwnl/gpuy
hwpwpbpwygniejniu

w) wupwnd gnyp - ontjwjwlwu wpdbph 60%,
p) inpwuuwnpwnwihu dhongubip W qjnin inbjuuhyw - ontjwjwlywu wpdtiph 50%,
g) wj| 2wpdwywu gnyp - ontjujwlwu wpdtiph 40%

Uwwhnydwu vhong

Uuownd U qupdwywlu gnyp

20 Quuwibiiniy' 0059

2L Jwplyp gnidwph wnbwql 70%-p whyp E ninnyh uwpgwy Gapnpridapht, Bel wy pwl uwhdwbiyws sk Japudhtiwtiuwgnpnn
pulybipniywt Ynndpg: <wluwnwly nGwpmd Juplyp hwdwpdmd £ opowbiwnnt dhongttinh hwdwipndwb bwwiywlyny pnppwidwinpynn

Yuinly:




7 qtMUuLucu3yuuulL <hULturuy (9<<)

«UdUua UuusSnruU» Il oruarr crutuutsrnhu Sruvurdna durusrp

MU3UULLLr KFW

(UUSWLP PPRLEBU/USGM N UMY 2UMGUSNRY)

Tnypubp Muwjdwuubp

Jwplwnniubp Phqutiu Juwpybph nbwpnud' << pwnuwpwgh U << nbghnbun wuhwwn
dtnuwpluwuwntip, << ntighnbun hpwywpwuwlwl wudhup
Yyninuinuntuwlywu qupytiph nbwypnd’ twb << punwpwgh b << nbighnbuwn
$hahywlws wudhup

dwnyh Uywinwy Uhlypn, thnpp b dhght phqubiuh quipquignud
®npp U dhohtu gyninujw phqubtiuh qupgugnd
Cpowuwnnt dhongubiph hwdwpnd Ywwhww| ubpnpndtbp Yud

hwdwygnipejniu?

Jwpyh dwpdwu dwdybin | 8 - 36 wdhu 24 - 60 wdhu

Jdwpyp dwpdwu | 3 - 15 wdhu 3 - 30 wdhu

wpunnujw| dwdlybin

Jdwpyh wnpdnyp L npwd

Swpbywu Phqubu Juphytip' 11.0% - 12.9%

nnynuwnpnyp? Yninuntunbuwywu Jupybp' 12.9%

Jdwpyh gndwp

Lwqugnyup' 4000000 << npwd
Unwybjwgnyup' 160'000'000 << npwd

Uwpdwt Gnwuwy

1. Uunthnbun (wduwlwu hwjwuwpwswih yéwpubn)
2. dwpyp gndwpph wduwlwu hwwuwpwswih ydwpubp
3. Uy hwdwwwuwuluwubgwsd hwbwfunpnh npwdwlwu hnupbphu

“thdnud hwjwnh | -

nuntduwuhpnyejwu

yéuwip

Spwdwnpdwu ybwp 0 %

Unwybijwagnuu w) wuownd gnyp - ontjwjwlwu wpdbph 60%,

Jdwnl/gpuy p) inpwuuwnpuwhts dhgngubin b qynin nbtuthlw - oniyuwywlwts wndtiph 50%,
hwpwpbnpwygnentu q) wj| 2wpdwlwu gnyp - ontjujwlwu wpdtiph 40%

Uwwhnydwu dhong

Utownd U qupdwlwu gnyp

22 Quubidingy' 0130

23 dwplh gmdwph wnbduqt 70%-p whipp Eninnyh Guwhgwy bpnpnidubppl, et wy pwi uwhdwidws sk Jepuwbhtiwbuwynpnn
pulybipniywt Ynndpg: <wluwnwly nGwpmd Juplyp hwdwpdmd £ opowbiwnnt dhonglitinh hwdwipndwb bwwiywlyny pnppwidwinpynn

dunl:

24 Yuwuwé <wbwfunpnp Juplynibwlnyeiniihg, nhuljughtinyeywt dwlwpnwihg b ppwlwbiugynn Spwgphg




8 unrpUPUYNMYNT S3NMIUSLSEUULLUL
Jdurusrp SruUuUHrUUL
mu3uvuuvuer»

Thnypubp

Muydwutbp

Jwplywnniubp

£ pwnwpwgh b << nbghnbun $hghjuwlywu (bwb wuhwwn dGnuwnplywwnbnbp)
wudhp, ££ ntghnbuwn hpwyjwpwuwlwu wushp

Jdwpyh tywwnwy

$npp b dhohtu gyninuijwt phqubtiup qupgugnd

Jdwpyp dwpdwu dwdybin

Uhusl. 36 wdhu

Jdwpyp dwpdwu | Uhusl 6 wdhu

wpunnujw| dwdlybin

Jdwpyh wpdnyp <L npwd

Swpbywu ninynuwnpnyp | 14.0%

Swpbywu wnnynuwnpnypp | Ywplytph  wnynuwnpnyph  unipupnwynpndp  Yhpwlwuwgdh  wjuwhuh
untpuhnwynnpntd swithwpwuwyny, npwbugh ywpybipp munbuwywnpnnubpht impwdwnpytu.

v 0% wnynuwnpnypny’ 2014 pwlywup nblywnbdpbph 18- N 1444-L npnpdwdp
hwunwwnwd  unghwjwlwu  wowlgnieniu  unwgnn  uwhdwuwdbpd
puwywywjptiph hwdwp,

v 5% wnnynuwnpnypny’ hwupwwbinnyejuu duwgwsd hwdwjupubph hwdwp

v 3% wnnynuwnpnypny’ gjninuinunbuwlwu Ynnwbpwnmhyubph hwdwp

Jdwpyh gndwp

Lwqugnyup' 4000000 << npwd
Unwybjwugnyup' 15'000'000 << npwd

Uwpdwu nwuwy

1. Uunthnbun (wduwlwu hwjwuwpwswih yéwpubn)
2. dwpyp gndwpph wduwlwu hwjwuwpwswih ydwpubp
3. Uy hwdwwwuwuluwubgwsd hwbwfunpnh npwdwlwu hnupbphu

“thdnud hwjwinh | -

nwnduwuhpnyejwt Jéwn

Spwdwnpdwu Ybwp 0%

Spwdwnpdwu .

woluwphwapnipynty <L nwpwodp, pugwnnijwdp’ Gplwu pwnwph

Unwybjwagnyu w) wuownd gnyp - ontjwjwlwu wpdtph 60%,

Jdwnly/gpuy p) npwuuwnpuwihu dhongubip b gjnin wnbfuuhyw - ontwjwlwu wpdtph 50%,
hwpwpbnwlgnip)niu g) wj| 2wpdwywu gnyp - ontjujwlwu wpdtiph 40%

Uwwhnydwu dhong Uupwpd U gwpdwlwu gnyp

Uy wwydwuubp 1. Opwagphu <6 Ywupnn  dwutwygl]  <wjwunwuh  <wupwwbinnyejwt

Jjnipwpwuginip nwpyw whinwywu  pngbing bwjuwnbujwé  <wjwuwnwup
Lwupwwbnnipiwiu Yunwywpniejwu 2018 pqwlwup hniphup 19-h N 893-L,
Cwjwunwuh  Lwupwwbinnpjwt  wnwdwpnipjwu 2019 pwlwuh
thbinpquph 28-p N 201-L, <wjwuwnwuh <wupwwbinniyejwu Yuwnwywpnigjwu
2019 pqwywuh dwpnp 29-h N 327-L, <wjwuwnwuh <wupwwbnnyejwl
Ywnwywpniejwu 2019 pwlwup ubwwunbidptph 19-h N 1305-L, npnonidubipny,
Cwjwunwuh Cwupwwbnnypjuwu yunwywpniejwu 2019 pwlwuh wwphih 4-
h N 369-L, Kwjwuwnwuh Lwupwwbinniejwt junwjwpniejwu 2021 pywywuh

25 Quuibidingy' 0103, 0117 L 0127




hniwhup 3-h N 927-L, npnpnudubipny  hwunwwndwd dpwgpbiph  2whwnnt
nunbuwdwpnnubipp, hwpyh  wnubind  wju, np updwd  Spwapbiph
hpwywuwgdwt twywwwyny wbunwlhwu pngbing twfuwnbudwsd Gu  wyl
dhongubin: LoJwd whnwlwu wowlygniejwu dpwgpbiph swhwnniubipp Ywpnn
GU hwunhuwuw| unyu Opwagph Jdwutwyhgutip ybpp updwd Ynuypbinn
Spwapbiph 2powuwlutiphg nntpu dpwigptiph hpwywuwgdwu hwdwp, Grb wn
wnunbuwywpnnubipp pwwpwpnud Gu Shtwtuwlwu Yuwnnygh wwjdwuubpp:
. Cwjwunwup  Kwupwwbnnppwiu Ywnwdwpnigywu - 2019 pqwlwup
hnywuntdptiph 24-h N 1485-L, npnodwdp hwunwnydwd «SGninuwnuwntuntejwu
ninpunnud wywhnjwgpwlwu hwdwlwpgh ubpnpdwu hnpduwlywu dpwapp
hpwwuwgdwt hwdwp wbwnwlwl wowygniejwu dpwagnph» 2powtwynd
wwwhnwagpynn  dowlwpnyubiph  gwuynwd  ubpwnwé  wpnnniywnubipp
dowynypjwt  twywuwwyny  Jupywynpywd  owhwnnwbpp  Jwplwhu
wwjdwuwghpp Yupbinig htivnn $puwtvwlwu Ywnnyg wbwnp £ ubpyuwjwgubu
wndjw]  Yuwd wnwohYw gJntnwnunbiuwlwu tnwnpyw hwdwnp
wwwhnwugpwywu  puybpnigjwu  htn Yupwd  gqyninuntmnbunipjwi
wwwhnjwagpnipjwu wwjdwlwgph wwwndbup:

. Ywpytipp wmpwdwnpynid Gu hbinlyw] bywnwlwjhu ninnniegyniuutipny.

w. denwdwyptiph, dEnwupuwnwuhpubiph, puswybu uwlb  thbpwyubiph
&binpptipnud,

p. wuwutwbuptph Yunnignid b wbfuuninghwywu wwwhnyntd,

g. qnuuuwuunbuwywu  Ytunwupubph  («Ubwutwpndnygjut  dwuphU»
Cwjwuwnwuph  Lwupwwbinnygywu  optuph  3-pn hnnywsdh  18-pp Ybiwn)
&binpptipnud,

n. wuwuuwybph dtinppbipnid,

G. ubpdbiph, uwdhjubph W wnuyhutiph dtinpptipnid,

q. gyninwnunbuwlywu vpwuwynigjwu hnnh dtnppbipnid,

k. hnnh L gnquuntunbuwlwu dowlwpnyubiph dowynipjw,
wapnnbluupyulwu dhongwnnwiubph hpwywuwgdwtu hwdwp wuhpwdbon
opowuwnnt  dhongubph  (pwgwnnigjwdp  unyu  Gupwybwh  «b»
wwppbpnieiniund updwd dhongutiph) W dwnwnipintuutiph dtnppbipnid,

p. lnuwdtpd hnnwdwubpnud nnngdwtu wpnhwywu hwdwywpgbiph ubpnpnd,
p. wgpnytipwdowydwl nppunph wpunwnpulwt  bpwuwynyejwu gkupkipp,
ohunipnibutiph Ywnnignud b yGpwlwnnignid.
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(gnpémud k dpiish 12/2024p.)

Thnypubp

Muydwutbp

Jwplywnniubp

£ pwnwpwgh b << nbghnbun $hghjuwlywu (bwb wuhwwn dGnuwnplywwnbnbp)
wudhp, ££ ntghnbuwn hpwyjwpwuwlwu wushp

Jdwpyh tywwnwy

$npp b dhohtu gyninuijwt phqubtiup qupgugnd

Snhdwjht FUBY-h (Gphugtbin U 1417 wduwlwt kg dwwinnuoubp (ubpypuwt

nbwpnwW  wpwnwhwuynn  Gpypnd  Yupwunhup  Ywugqubgubing  puy <&l
wnpnijwbwnph wwjdwuwgph Yupdwu npnypjwdp)), dtinp ptpdnwd

Jdwpyp dwpdwu dwdyticn | Upusk 60 wdhu

Jdwpyp dwpdwu | 0-12 wdhu' yupyp dehuwplughti pupdw uyqpnid

wnwunujw| dwdybin

Ywnyh wpdnye < npwd

Swpbywu wnnynuwnpnyp | 14%

Swpbywu nnynuwnpnyph | Snynuwnpnyputiph untpuhnwynpnidu hpwlwuwgyntd k wjuwhuh

untpuhnwynpntd swihwpwuwyny, npwtugh qupybpp Jupywnnihu npwdwnpytu.

v 2%  wnynuwnpnypny’  Lwjwunwuh  Lwupwwbnngeniuntd
wnnhdwjhtu fuBY dbinp ptiptint hwdwnp

v 3% wnynuwnpnypny’ ubpypywsd ubY dbinp pbpbint hwdwp

v 0% nnynuwnpnypny’ <wjwuwnwuh Lwupwwbnnyejwu Yunwywpniypjwu 2014
pUwlwuh nbGlywbdptph 18-h N 1444-U npnodwdp hwunwwnywd gwuynwd
pungpywsé uvwhdwuwdbpd hwdwjuputiph  wunbuwdwpnnutpht  Yuwd
gjninwinunbunipjwu ninpunnwd ghpdénwubinie)ntu hpwywuwgunn

Ynnwbpwuinhdubphu'

wébgwé

Jdwpyh gndwp

Lwqugnyup' 4000000 << npwd
Unwybjwgnyup' 300°000'000 << npwd

Uwpdwu nwuwy

1. Uunthnbun (wduwlwu hwjwuwpwswih yéwputn)
2. dwpyp gndwpph wduwlwu hwjwuwpwswih ydwpubp
3. Uy hwdwwwuwuluwubgwsd hwbwfunpnh npwdwlwu hnupbphu

“thdnud
nwnuwuhpnyjwt Jéwn

hwjwnh

Spwdwnpdwu Ybwp

0%

Uwwuwpldwu wduwlwu
Yowp

0%

Jdwpyp wnpwdwnpdwu | Wulwufupy

Gnwuwy

Unwybjwagnyu w) wuownd gnyp - ontjwjwlwu wpdtph 60%,

dwply/gpuy p) npwuuwnpuwihu dhongubip W gynin wnbluuhyw - onlyujwlywu wpdtiph 50%,
hwpwpbnwlgnip)niu g) wy| 2updwlwu gnyp - o2ntyuywlwu wndtiph 40%

Uwwhnydwu dhong

Uuownd U qupdwywl gnyp

26 Quuwtiiniy' 0119




W ywydwuubp

v

v

Jnipwpwusinip ywplywnne tnwpbwu Yupnn § dbnp pbpt| wnwybjwgnyup 300
g|ntfju mnhdwjhu luGY

quplwnnit pptwtvwlw Ywnnyg £ ubpyujwugund innhdwjhu luBY &binp
pbiptnt yepwpbpyw nhdnd-hwjn' ugbking npwug pwuwyp, dknppbipdwu Jujpp
(Juyptip), (hwugbu), ubpdniddwu nbwpnd’ ubpypdwu dwdybwubpp, gpwynp
wwpwwynpwghp' dbnp pbpdnn winhdwihu luBY-h wnudwqu Bpbp wwph
Lwjwuwnwuh Lwupwwbnnyeniund  wwdjwph bwfuph  Ybpwpunwnpniyejwu
hwdwp  oguwgnpdnwit  wwwhnytiint  Jbpwpbpw),  puswybu  twl
Uwluwpwpniejniu £ ubipyujwgunid dtinp- pipdwtu Gupwyw funpnp tingtipwynn
YGunwupubpp winhdwiht YYwywlwuubpp b pwpwbpp' npwug hhdwu Ypw
Gbinppbpdwu Gupww funonp tingtipwynp YGunwuhubph winhdwjhu |hubnt
dwuhu dhuwuuwywu Ywnnyghu wuhpwdbonniejwu nbwpnwd
funphpnwwnyniejniu tnwnt bwwwnwyny,

nnhdwjhtu YEunwupubiph dtnpptipnwdp, ubpdniddwu nbiwpnud bwl ubpypnednp,
hpwywuwgynd tu Jupyp hwuwnwwnbinig htinn' pbip wdujw pupwgpnud, npp
wywpwh  dbpoht  wwutopjuynd  Jwplwnnih  twjuwdbnuniygjudp W
Uwluwpwpniejwt hwdwdwjunyejwdp nnhdwjhu YGunwuhubiph dGnpptipnudn,
ubpdniddwu nbwpnud uwlb ubpypnudp, Ywpnn Gu Gplwpwaqyt) bu d6Y wduny
wnnhdwjhtu luBY dtinp ptiptiinig (Ubkipypbnig) htinn Juplwnnit Shuwtuwlywu
Ywnnyg W bwjuwpwpnyeiniu £ ubipluwjwgund hwunwpenetp hwdwdwju <<
2019-2024 pywywuubph  wwljwpwpndnigjwt  qupgwgdwu  dpwgph
wwhwugubiph

Opwgph 2whwnnt 6 Yupnn  hwunhuwtw] twfuwpwpnigjwu  Ynndhg
whwnwywu  wowlygnigywu U (Ywd) wy  Spwgpbph  2powtiwyubipnid
fuunpwhwnnyg wwnwwynpnijniuubip niubignn dhghywywu,
hpwwpwuwlwu wudhup b wuhwwn dEnuwpluwnbiptipp

wnwohu dnuhpnphuqu hpwywuwgynw £ Jupyp wnpwdwnpbiinig htinn Gpyne
wduw pupwgpnd
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SPUUUUNA UNPURHULLNPYNA luNSNP dUry?
(gnpémud k dpiish 12/2023p.)

Thnypubp

Muydwutbp

Jdwplwnniubp

<< pwnuwpwgh b << nbghntun wuhwun  dGnuwplwwnbptpn, << nbghnbuwn
hpwwpwuwlwu wudhup, gniqununbuwywu Jupytph nbwpnd' twb <K

pwnuwpuwgh b ££ nkghntiun $hghyuwlywu wudhup

Jdwpyh tywwnwy

®npp b dhohtu gyninuijwt phqubtiuh qupgugnd

Snhdwjhu UGY-h" dhusl 18 wduwwu hnh ngfuwpubph W wydtiph, 4-16 wduwywu
kg U 6-16 wduwlwu wpnt dwinnwoubiph (20:1 hwpwpbpnygjwdp' 20 Egh hwoyny 1
wnnt) nppbpnud

Jdwpyp dwpdwu dwdybin

dhusl 48 wuhu

Jdwpyp dwpdwu
wpunnujw| dwdlybin

dhusl 12 wdhu

Ywpyh wpdnyp

L npwd

Jdwpyh gndwp

4'000'000 - 900'000'000 << npwd

Swpblwu winynuwnpnyp

14%

Swnblwu wnynuwnpnyph
untpuhnwynpnid

Snynuwnpnypubiph untpuhnwynnpnidu hpwywuwgyntd k

swihwpwuwyny, npwtiugh Jupybpp Jupywnnihu nmpwdwnnpytu.

v 2% wmnynuwnpnypny

v 0% nnynuwnpnypny’ <wjwuwnwuh Lwupwwbnngejwu Yunwywpnipjwu 2014
pUwlwuh nbGlywbdpbph 18-h N 1444-U npnodwdp hwunwwnywd gwuynwd
pungpywsé uwhdwuwdbpd hwdwjuputiph  wunbuwyjwpnnubpht  Yud
gjninwnuwnbunipjwu ninpunnwd ghpdénwubinie)ntu hpwywuwgunn

Ynnwipwwnhyubiphu

wjuwhuh

Uwpdwu tnwuwy

1. Uunthnbun (wduwlwu hwywuwpwswih yéwpubn)
2. dwpyp gndwpph wduwlywu hwwuwpwswih yéwpubp
3. Uy hwdwwwwnwufuwubgwd hwdwfunpnh npwdwlwu hnupbiphu

Spwdwnpdwu Yéwp

0%

Uwwuwpldwu wduwlwu
Jowp

0%

Jwnyh npwdwnpdw Uuywufuhy

Gnwuwy

Unwybjwagnyu w) wuownd gnyp - ontjwjwlwu wpdtph 60%,

Jdwpl/gpuy p) npwuuwnpuwihu dhongubip W gynin wbfuuhyw - ontyujwlywu wpdtiph 50%,
hwpwpbpwlgnipntu q) wj] 2wpdwlwu gnyp - ontyujwlwu wpdtiph 40%

<hduwywu  wwwhnydwu
uhong

Utownd U qupdwlwu gnyp

Uy wwydwuubp

v nipwpwuginip Jwplwnne Yupnn | &binp pbipb wnwybjuagnyup 2'000 gintfu
wninhdwjhu UBY, wjn pynud’ 100 gjfuhg ny wybih winhdwjhu wpnt dwunnwyp
(ngtuwph b wydh)

V' Opwgph 2ppwuwlutipnd Yunipuhnwynpyh jnipupwtginip gwhwnnth Ynndhg
dbYy giniju winhdwihu UBY-h' dphusl 450 hwg. npwd wpdbipny dbnp pbipdwd

2T Quuibidingy' 0124




ytunwunt hwdwp thwunmwgh Jéwnpdwsé gndwpp (shwoywd inbinwithnfudwu
dwfuubinp)

owhwnnt $htwtvwlwt Ywnnyg £ ubpluwywgund nnhdwihu UGY &tinp
pbipbint Jwupu nhdnwd-hwyn' Uobiny dbinp pbpynn winhdwjhu UBY-h pwuwp,
Gbnppbpdwu  (ubpypdwu) Juwypp  (Juipbpp), abnpptipdwtu  dwdybwnubnp,
&tinpptipdwu Gupwlw wnhdwhu UGY-h hwwuwmwgpbpp (YYwjwlwuubnp,
pwpwtipp), huswbu twl <wjwunwuh Lwupwwbnnuguu  Eynundhluwih
Uwfuwpwpnuiniu (wjunthbn' bwluwpwpnyeynit) b ubipluywgund dEnppbpdwu
Gupwlyw wnnhdwjhu UGY-h hwwuwnwagpbipp (Yywjwlwuubpp, pwpwnbpp)
nnhdwjhu UGBY &binp pbiptinig (utipypbinig) hbinn Juplywnniu $huwtuwlywu
Ywnnyg W bwjuwpwpnyeniu £ ubipluwjwgund hwunwpenetp hwdwdwju <<
2019-2023 pywywuubiph nsfuwpwpnidniejwu b wjdwpnidnipjwl qungugdwu
wowygnipjwu dpwanh wywhwugubinh

Opwgph 2whwnnt s6u Yupnn hwunhuwtw| bwfuwpwpnigjwu Ynndhg whinw-
Ywu wowlygnigywu L (Ywd) w) wbwwlwu Spwapbph 2powtwyubipnid
dwdybunwug wwpuwynpnieiniuubip niutignn $hghlwywu, hpwwpwuwywu
wudhup b wuhwwn dGnuwnplywwnbpbpp,

nnhdwjhu Yeunwuhubph dGnpptipnudp, ubipdnddwu nbiwpnd bwl ubpypnwip
hpwywuwgynd £ qupyp hwunwwnbing htnn' bpbip wdujw pupwgpnud, nph
wywpwnh  Jbpoht  wwutopwynd  pwhwnnth  Uwfuwdbnunipjuwdp L
Uwfuwpwpnigjwt hwdwdwjuniejwdp wnhdwjht YEunwuhubiph dtnppbipnudp,
ubpdniddwu nbwpnud bwl ubpypnudp, Ywpnn £ Gpywpwagyt) bu Gl wduny
wnwohu dnuhpnphuqu hpwywuwgynw £ Jupyp wnpwdwnpbiinig htinn Gpyne
wduw pupwgpnd
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Tpnypubp

Muwjdwuubp

Jdwplwnniubp

<< pwnwpwgh b << nbghntun $hghlwlwu wudhup, <L ntighntun wuhwwn
dtnuwpluwuntiptip, << nbghntuwn hpwywpwuwlwu wudhup, nptip hwoqwnywd
Gu U qpunynid Gu gyninununbuwywu hbnlyw| gnpdniubinyejwdp'

w/ Munnwuwnnt wjghubiph hhdunwd U futiwdp,

p/ Qbipdngwjhu gnpd,

g/ 2npwgpwsé dpbtinph wpuwnpnyegjwiu Yuqdwybpwntd,

n/ Ubinjwpnidniegyntu

Spwdwnpdwu
w2fuwphwgnntejntu

e <L Upwpwuwnh dwpg (Cwhnidjw, Unp Ninh, $npp Ybinh, Unipbuwyw)

o <L dwyng dnph dwnq (Unthh, 2wnhpwih)
e <L Unwuhph dwpq (Utinpp, Ugwpuwy, Ujwup, Lbhjwq, Y“wpdlwu,
Unuwdanp, GJwuhanp, Uywunwpjwu, ‘twppwu, <wpdhu)

Jwnpyh bywwnwy

®npp U dhohu gjninulwu phqubiup qupgqugnd

Ywuwhwnw| ubipnpnudutip®

Jdwpyp dwpdwu dwdybin

Shusl 60% wihu

Jdwpyp dwpdwu
wpunnujw| dwdlybin

Shuslt 18 wihu

Jdwpyh wpdnyp

<< npwd

Jdwpyh gndwp

Lwqugnyup' 4000000 << npwd
Unwybjwgnyup' 20'000'000 << npwd

Tpwdwounph

Uhusl <5M-h gnudwph 25%-h swithny, uwlwju ng wytil, pwu 3,350,000 << npwd

Swpblywu wninynuwnpnyp

12.0%

Swnblwu wnynuwnpnyph
untpuhnwynpnid

«Hniwuwnunbiunyjwu  ninpnhtu - wpwdwnpynn  Jwpytbph  wnnynuwnpnypubipp
untpuhnwynpdwu» Opwagph swihwuhoubpht pwywpwnbnt nbiwpnid, hwlwnwy
wwpwguwjnu Juwpyp untpuhnuynpdwt Gupwlw sk

Uwpdwu tnwuwy

1. Uunthnbun (wduwlwu hwywuwpwswih yéwpubn)
2. dwpyp gndwpph wduwlywu hwwuwpwswih ydwpubp
3. U hwdwwwwnwufuwubgwd hwdwfunpnh npwdwlwu hnupbiphu

Spwdwnpdwu Yéwp

0%

Uwwuwpldwu wduwlwu
Jowp

0%

Jdwpyp wnpwdwnpdwu Uuywufupy

Gnwuwy

Unwybjwagnyu w) wuownd gnyp - ontjwjwlwu wpdtph 60%,

Jdwpl/gpuy p) npwuuwnpuwihu dhongubip W gynin wnbfuuhyw - onlyujwlywu wpdtiph 50%,
hwpwpbpwlgnipntu q) wj] 2wpdwlwu gnyp - ontyujwlwu wpdtiph 40%

<hduwywu  wwwhnydwu
dhong

Utownd U qupdwwu gnyp

28 Quuwibiingy' 0108

2 Cpowtiwnnt Uhgnglibiph hwdwipnudp uipluyht dhengbibiph hwigyhts swbiyp b qlpwquiigh Juiplwnnipt pipwdwnpynn Juinyh

wdpnne gnidwph 30%-p

30 Ujwbnwlywt wygnt hhdbidwi b futiwdph buyugpwlyng inppuwdwnpynn Juplyinh nbuypmd’ wnwybjwanytip 84 wdpu




W ywydwuubp

Mwpunwnhp bwuwwwydwu £ Spwagph Ynndhg wugywgywd nwupupwgubphu
dwutwygnipjwu yywjwagph wnlwnyejniup,

. Kwbwfunpnh  hhduwywu  GYwdnunubph  wnuwqu  50%-p uwnwgynd L

gjninwinunbiunteiniuhg, pun npnd hwoqwnyp Ywwnwpynw £ Spwgph Ynndphg
punntubih swhwupubph hwdwéawju

. 26U $puwtuwynpynid hunbuuhy wyghubiph hhdunwip, Ywehjwhtu nnngdwu

guigp, hwlwhwpyunwihu guugp, fuwnnnh wjghubiph hhdunddp:

. “tpwdwpunpht  ninnuiyhnpbu thnfuwugynd £ uwfuopnp  punpjwd  wju

dwwnwywpwphu, ny  Jwplwnnibph/awhwnniuph hGin Yupwsd
wwjdwuwgph hwdwdwju, inpwdwnpnid £ wpnbu huy punpywd wwpwupubn,
uwppwynpnidubip bW wuhpwdbon w)| hhduwlwu dhongubp:

. dhuwtuwynpynud Gu dhusk 3 hw hnnuiywnph ypw hpwywuwgynn dpwagntipp,

pun npnud hwqwipyp Yunwpynud £ Spwgph Ynndhg punniubih swthwuhautinh
hwdwdwju
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Tpnypubp

Muwjdwuubp

Uhpwnynn winydbp

dwdytivnwug qupyh gndwph b dwdybivnwug nnynuwgnidwph tlwwndwdp opwyw
0.12% (wnwybtjwagnyup 90 opwgnigwjht on)

UVwpdwtu Gnuuwy

1. Uunthnbun (wduwlwu hwjwuwpwswih yéwputn)
2. dwpyp gndwpph wduwlwu hwjwuwpwswih ydwpubp
3. U hwdwwwuwwuluwubgws hwbwfunpnh npwdwlwu hnupbphu

dwpyph hwunwwndw

Phqubu L gnuquunumbuwlwu  Jwpybph nbwpnd® 10 wofuwwnwupwihu on,

::l:ut[:li‘wqmjh hhthnebpwihu W uywnnnwywu Juwpybph nbwpnid’ 7 woluwwnwupwhu op
Hwplh  wpwdunpdwy Qpwdh  ppwyniuph  wbnwywu gpwugnwhg b ubpluywgubing  hbnn' o 2
wnwbwanyl w2luwwmwupwjhu o
dwdlbn 4 pujpton
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